(9] - )
AF A= AEU 20189 (A) | 2017d(®B) | SH(A-B)
A 99,150,607 74,095,490 25,055,117
99,150,607 74,095,490 25,055,117
2= 39S 98,192,217 72,965,461 25,226,756
AAYL-L 200,645 168,164 32,481
71,360 60,221 11,139
e 71,360 60,221 11,139
1. ZYAEAS 47,320 47,320 0
7h AL SR opAE AT 3,120
1) Z3Yax9 620-03 |130,0009x19%= 2,470
2) AR 620-10 |130,0009 x5 = 650
U 25 SFEoAE AT 29,120
1) ¥Hx5w 620—03 130,0009 %2248 = 29,120
. S SFREopAEAT 15,080
1) ¥e=sy 620-03 130,000 X709 = 9,100
2) AFZE 620—10 |130,0009 x46% = 5,980
2. B g2 9,200 0 9,200
7h S ddGA G AT 9,200
1) xFd e 210-07 600,000 X 2t x 2% = 2,400
2) 211] 210-04 (8,000 X 60 x 54 = 2,400
3) Zuk] 210—-04 40,000¢1 X 60 = 2,400
4) 7rs 230-02 |25,0009 X 60 = 1,500
5) SALE-E 1] 210-01 |50,0009 x 10%= 500
3. AXdudaF 14,840 6,980 7,860
7}, SR YAFE LY 10,040
1) A [AREEAH ] 310-01 |160,0009 x 6 = 960
2) v 210-01 |14,000€ X 10v} x 38] = 420
3) 7te3 230-02 |15,00091 X109 X 63]= 900
4) A BN 210—-11 |5,000491 X707 x 103]= 3,500
5) 7+2n) 210—-04 |2,0004€1 X120 X 63] = 1,440
6) A5t 210-01 |100,0009 X 107]= 1,000
7) elAn 210-01 |7,0004€l X 100%= 700
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I

_/(-ﬂ i

210-04

620-03
620—-10

220-01
210-06
210-01
210-04
210-04

210-01
310-01
210-04
230-02

210-07
210-04
210-04
230-02
210-01

210-01
210-05
110-03
230-02

A= o 20184 (A) 20173 (B) =4 (A-B)

8,000 X707 x 22 = 1,120
4,800
1,200,000 x 271 = 2,400
1,200,000 x 271 = 2,400

18,240 11,662 6,578

18,240 11,662 6,578

3,280 1,520 1,760
3,280
75,0009 x 6% = 450
160,000€ x 19 x 33| = 480
50,0009 x57)= 250
2,000 X 70 x 35 = 420
8,000¢1 X707 x 34 = 1,680

3,660 5,070 A1,410
10,0009 X909 = 900
50,000¢ X 178 X 6A|ZF X 63] = 1,800
2,000 x30 x63]= 360
30,0009 10 x 23] = 600

11,300 5,072 6,228
600,000 X 2t x 2% = 2,400
8,000¢1 X80 x 52 = 3,200
40,000€ x 80" = 3,200
25,0009 x 807 = 2,000
20,0009 x 25%= 500

64,027 62,973 1,054

13,427 12,973 454

11,520 11,953 A433
2,0009 x450%-= 900
8,0009 X109 x 15U = 1,200
66,6309 X3 X54= 1,000
20,0009 x 157 x 38| = 900
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7189 ANEER T SA LA (ko] A 9)
Z o )=
wopvy S0 | 2R | AT NERE 5= RENL 2018\(A) | 20174 (B | ZR(A-B)
at. 2] 210-04 |8,0009 X587 x 524 = 2,320
vl W53 ARIAL A3 A 210-06 |70,0009 x 12 x 53] = 4,200
AL, QIAFA F-A D &) of 1] 220-01 20,0009 X107 x 54 = 1,000
2. x4 NEF 7} 887 0 887
7F AFS-E-3E) 210-01 |143,5009x2F= 287
v, 73 230-02 (20,0009 x 159 x 23] = 600
3. ¥R g7} 1,020 0 1,020
7t 875148 1,020
D FAad 210-06 |70,0009 x5 x 28] = 700
2) 7+3 230-02 20,0009 x 87 x 23] = 320
= 3| WAMAE G 50,600 50,000 600
1. AL 2 A3 272 ¢ 36,800 36,800 0
7} == A} 35,200
1) ¥Hssn 620—-03 20,0009 X409 x 49 x 109 = 32,000
2) A =St 620—10 20,0009 x 49 x40 X109 = 3,200
U} odokm Ak 1,600
1) 3% 620-03 |20,00091 x 18 x 82 x 10¥ = 1,600
2. FAAEEAFHTIA L 2,400 2,400 0
7}, 2T WAF 2,400
1) ¥ x5 (dxh 620-03 50,0009 x4 x 129 = 2,400
3. T &L A A A 11,400 10,800 600
7}. S WA 10,800
1) 18293 240-01 |50,0009 % 3% x129= 1,800
2) ¥HTT (I 620-03 50,0009 X138 x12¢= 7,800
3) AH=Estw 620-10 50,0009 X2 x12¢= 1,200
v @Ak 600
1) ¥Hx5w(dqh 620-03 50,0009 X198 x12¢¥= 600
A g A RjAAL 2,360 2,650 2290
A g FAJAALEE 2,360 2,650 2290
1. A FdRIAL#E 1,660 1,600 60
7} &2 2] 210-05 8,000 X34 x 20 = 480
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A% z12)
A NERE Y REN 2018\(A) | 20174(®B) | 7 (A-B)
/‘]'Cﬂ = = = jul = s 1t ™

L, 7hekg) 230-02 |20,0004 x 137 x 23] = 520

oh FARJNA Y 660

1) 7+&3 230-02 |15,0004 x 227 x 23] = 660
2. A FAAAA A 382 700 1,050 A350

7}, A 210-06 |70,0009 x 59 x 23]= 700
B A 74 el AL # g 12,748 9,458 3,290
8] A 74 Q1 A -7 12,748 9,458 3,290
1. S AR AR 1,920 280 1,640

7} B2 A 210—-05 |8,0009 x4 x60Y= 1,920
2. XSAFA AN S 4,188 7,178 22,990

7h, LR PAY B st S 890

1) AN 210-01 |10,000€l x 35¢= 350

2) 7t [ARPALS] 310-01 |50,00091 X 17 X 8] k= 400

3) 7F21n 210-04 |2,0009 x 359 x 23]= 140

A e L 1A g 430

1) 7] 310-01 |160,0009 X 1% = 160

2) =3} 310-01 |90,000€ x 1% X 34| 7}= 270

= A= 210-01 |14,0009 x 12v]= 168

2}, o1 4n] 210-01 |5,0009 X 300%-= 1,500

uf, 7FAH) 210-04 |2,000€ x 3009 = 600

vl Al a 210-07 |600,0009 x 121 = 600
3. LA FH A/ A 3]% 6,640 2,000 4,640

7b WA 210-06 |80,000¢ x50 = 4,000

L}, A2k 210-06 |70,0009 x 47 x 55| = 1,400

t}, 743 230-02 |20,00091 X 7' x 63| = 840

2}, BAE-E ) 210-01 20,0009 X 20%= 400
) 9} A}7) A = 31,910 21,200 10,710
ZHYNEAA Y 31,910 21,200 10,710
1. 2339949 5,000 0 5,000

7}, ARE 5 3] 5-A] 5173 1) 240-01 |1,000,000¢ X 55k = 5,000
2. A YA &3¢ 26,910 21,200 5,710
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(gl - A9

AU o S-A= ArEue 2018 (A) | 20179 ®) | SH(A-B)

7h. b A S 3 9,800
1) A=FAdxra 210-07 |600,000¢ x 2t} = 1,200
2) A8 210-04 |8,000€l X 200% = 1,600
3) AA}LLEn) 210-01 |500,0009 X 14%= 7,000
L Ao w A A A S 5 12,100
1) BAFEE R 210-01 (30,0009 X 270%= 8,100
2) AFEQIN) 210-01 30,0004 X 807)= 2,400
3) WZ A= 210-01 10,0009 X 80%-= 800
4) ot 210-01 |100,000€ x 57 = 500
5) = +FR 210-01 |50,000€ x 671 = 300
ot A A H Y A 3] 5,010
1) BAFE-En 210—-01 |50,000€l X 60%= 3,000
2) WZ2) Azt 210-01 |5,0009¥ x150+%-= 750
3) AFELeln) 210-01 |30,0009¥ x3071= 900
4) 2] 210-04 |8,0009¥ x45% = 360

4,185,759 3,103,282 1,082,477

FA ML S 102,708 58,490 44,218

£ 56,908 16,690 40,218

1. a5 FAT 5,958 0 5,958
7h L) 3l 5,958
D) A [ARPEAM 500
7p 7%= 210-06 |160,0009 x 27 = 320
W} %2 210—-06 90,0009 x 27 = 180
2) d18 210-01 |14,0009 x 120]= 168
3) Qlzjn) 210-01 |5,000€ X 200%-= 1,000
4) 7r214) 210-04 12,0009 %2009 = 400
5) 7+F3 230-02 25,0009 X509 = 1,250
6) WAFLEn) 210-01 10,0009 X 200%= 2,000
7) 2] 210-04 |8,000¢ X 80 = 640

2. IS HAHUAP LA 2,950 2,890 60
7h wS A A Y 2,950
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R

AR S -4 g 2018 (A) | 2017 (B) #(A-B)

1) Q1z)m] 210-01 |7,0009 X 50%-= 350

2) duw 210-01 14,0009 x50v)= 700

3) 2] 210-04 |8,0009 X307 x 24]= 480

4) 7F4H) 210-04 |2,0009 %30 x 23] = 120

5) ZIAE [ uEAR2] 210-06 100,0009 x4 = 400

6) SAFL-ZEn) 210-01 |15,0009 X 20%= 300

7) 73 230-02 20,0009 x 3094 = 600
3. FRTEFAEHI LY 3,000 3,000 0
b 2 ES R T E RS 3,000

1) 355w 620-03 |1,000,0009 x21.= 2,000

2) AbEZ=e 62010 |1,000,000¢ x 1iL= 1,000
4. TLARTS 2,000 1,800 200
7}, SR A 2000

1) A [ Rga2] 310-01 |100,000€ % 17§ x 23] = 200

2) ZAFL-EH) 210-01 |20,0009 X 24%= 480

3) 2] 210-04 |8,0009 X459 X224 = 720

4) xpF g 210-07 600,000 x1t)= 600
5. A7) A& d 9,000 9,000 0
7k A7 AR g A 9,000

D) A [ R AR2] 440

b 7= 210-06 |100,00091 % 11 x 23] = 200

W %3 210—-06 60,0009 X 17 X 24| 3k % 23] = 240

2) AH) 210-01 |5,0009 X 1,000%= 5,000

3) g 210-01 |14,000€ x 201 = 280

4) 7+21H) 210-04 |2,0009 %2007 x 23] = 800

5) AFL-En] 210-01 10,0009 x103%= 1,030

6) 7+s 230-02 125,00091x10%= 250

7) o] 220-01 |20,00091 x 319 x 209 = 1,200
6. [S2]AFE7]A 34,000 0 34,000
7k AR A8 34,000

1) <14 210-01 |10,000€ X 600% = 6,000
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CA)

AFA U < A5 =Y 20184 (A) | 2017 (B) Z(A-B)
2) g 210-01 |14,0009 X501 = 700
3) WALGE 210-01 |10,0009 x 875 x 103]= 8,700
4) ) 210-04 |8,0009 x 180 x 42 = 5,760
5) 7HA1n) 210-04 |2,0009 x 180 x 43] = 1,440
6) AT [ RPEARZ] 210-06 |100,000¢ X 6% x 33| = 1,800
7) Aol E 210-07 |400,0009 x 64 = 2,400
8) x}eolxte 210-07 |600,0009 x 2t = 1,200
9) o] 220-01 |20,00091 X104 x 102 = 2,000
10) 7Fe3) 230-02 25,0009 x40 x 43]= 4,000
AARENSRF 18,000 14,000 4,000
1. 38 dALS R = W A 27 18,000 14,000 4,000
7} Q1 1) 210-01 |4,0009 % 3,500%= 14,000
U, #HAgg 210-06 |10,0009 X207 x 153]= 3,000
o}, 7hk3) 230-02 10,0009 X 207 x 23] = 400
CINPAR-N- T AE) 210-01 |20,0009 x 30%= 600
AR B A | 27,800 27,800 0
1. FojAm8A ¢ 27,800 27,800 0
7F. 21178 1S A A A B - H] 10,000
D AgT9 210-01 |100,0009 x 49%= 4,900
2) A (Y RPARZ] 210-06 |100,000¢ x 227 = 2,200
3) AFE o) 210-01 |20,0009 x 257 = 500
4) 7F214] 210-04 |2,0009 %1009 x 103]= 2,000
5) 7+23] 230-02 20,0009 x 20 = 400
U, oA n&E A Rt w9 620-03 |5,000,000¢ X 13= 5,000
th A AAHETAAE 52 Y 4,000
1) Ap8-3En) 210-01 |10,000¢] X 20% = 200
2) HALE-E 1) 210-01 |10,000¢! X 90% = 900
3) 2] 210-04 |8,0009 x 97 x 52 = 360
4) ZH2n| 210-04 |2,0009 x 30 x 43| = 240
5) o] 220-01 |20,0009 X207 x 5% = 2,000
6) 7+cr3 230-02 30,0009l x10%= 300
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HEAA D] P9
?}2 ApeI e == Az o 2018 (A) | 20179 (B) ZHA-B)

gt g s TATddrAd 8,800

1) Q1] 210-01 10,0009 X 200%= 2,000

2) g 210-01 14,0009 x50v)= 700

3) F|AFLZH) 210-01 |10,000¢ x105F x 28] = 2,100

4) A 210-04 |8,000€l X105 = 840

5) A [ u7kA ] 210-06 |160,0009 x4 x 48] = 2,560

6) 73| 230-02 30,0009 %20 = 600
Sa=PAP 331,619 340,444 28,825
AMAX A 54,960 53,060 1,900
1. RAF AR ATASHA 54,960 53,060 1,900

b 2erdvEgE 6,100

1) Ak [AREEAL2] 210-06 |100,0009 x 15 x 33]= 4,500

2) FAFLEN] 210-01 |100,0009 x 2F x 38]= 600

3) 7FAlH) 210-04 |2,0009¥ x100% x 38]= 600

4) 7+ 230-02 20,0009 X 10% x 23 = 400

U 2eutaddeAd 8,240

D) ZAbr e [ RPGAM 3,000

7h 7]& 210-06 |160,0009 x 47 x 33| = 1,920

) =3 210—06 |90,000¢ x4 x33]= 1,080

2) Y8 210-01 |14,000€ x 20v} x 38] = 840

3) Qln 210-01 |5,000€ X 100% % 33| = 1,500

4) 7F4] 210-04 |2,0009 %1007 x 33| = 600

5) AFL-ZH] 210-01 10,0009 X75& X 23]= 1,500

6) 2H] 210-04 |8,000€l X100 = 800

U TeTrds g 4,000

1) 7R [ a 210-06 |100,0009 x 159 x 28]= 3,000

2) FAFLEN] 210-01 |10,0009 X 20F x 28] = 400

3) 7+An) 210-04 |2,000€] X 1007 x 23] = 400

4) 7v23) 230-02 20,0009 X 107 = 200

gh TeEEdATAd 5,660

1) A3 (AR ] 2,000
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R

At A e 2018 (A) | 2017 (B) #(A-B)
7h 71 210-06 |160,000¢ x 47 x 23] = 1,280
W) =3 210-06 90,0009 x 47 x 23] = 720
2) g 210-01 |14,0009 x 207} x 28] = 560
3) ¢lan 210-01 |5,0009 X 100+ x 23] = 1,000
4) 7+21H) 210-04 |2,0009 %1007 x 23] = 400
5) WAFE-EH) 210-01 25,0009 X 18%F x 23] = 900
6) 2] 210-04 |8,0009 %100 = 800
oh, @& AT Eole & 24,600
D) FoleledulA g 20,000
7hH EYx5w 620-03 |1,000,0009¢ x173= 17,000
W) AFg =ty 620-10 |1,000,000¢ x 3iL= 3,000
9) A= 210-06 50,0009l x 87 = Gl
3) $=Zolu] A AF 310-03 |500,0009 x 69 = 3,000
4) AFL-EN] 210-01 |100,000¢ x8%= 800
5) 7+3 230-02 |20,0009 X107 x 23] = 400
oh A E e A 2 6.360
D) A [ R A ] 250
7p 7= 210-06 160,000 x 194 = 160
W) %3 210-06 |90,0009 x 1= 90
2) A [Lu7AL2] 210-06 100,000 x 6= 600
3) duw 210-01 |14,0009 x 207} x 28] = o260
4) Q1) 210-01 10,0009 X 100%-= 1,000
5) 7HA1H] 210-04 2,000 X100 x 33] = 600
6) SYAFEEN) 210-01 |10,0004€l X 65F= 650
7) 7+ 230-02 20,0009 %15 = 300
8) A=Fdt 210-06 |50,0009 x 87 x 63]= 2,400
=3 ] 276,659 287,384 210,725
.ASALYRAY 14,152 14,772 2620
b mAL e R AR 4 14,152
1) Q14)H) 210-01 [9,000¢ X 200%-x23]= 3,600
2) 9418 210-01 |14,0009 x 247 x 23] = 672
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CA)

AF A= AEU 2018€(A) | 20174 (B) 7 (A-B)
3) SAFL-E ) 210-01 |20,000€ X 100% % 23] = 4,000
4) 2n] 210—04 8,000 x200% x 24 = 3,200
5) 7HA1H] 210—04 2,0009 X200 x 23] = 800
6) ZAHFR (LA ] 680
7hH 71& 210—-06 160,000 x 24 = 320
W 3 210—06 90,0009 x 20 X 2A] 7} = 360
7) 7vek3 230-02 |30,000€) X 20 x 23] = 1,200
2. AXPEREA Y 262,507 272,612 A10,105
7h BEEsEE YA 262,507
D) srs2e Y aE stsa et 34,297
7h 7185 110-04 |1,900,00091 x 17 x 129 = 22,800
W dAxsd 110-04 [67,0009 x 1% x 159 = 1,005
o) 2R EY 110-04 [12,8509x 1% x 12417k x 129 = 1,851
o) A&7 110-04 |500,0009 x 17 x 23] = 1,000
vl A7 A o 110-04 |[500,0009 x 19 = 500
B W E K ZH 110—-04 60,0009 x 1% x129= 720
AP A A F2H] 110-04 [80,0009 X194 x12¢¥= 960
o)) ubE=3E 2 n 240-02 400,00091 % 1= 400
2} TRl F R 320-12 |29,257,0009 X 17 X 4.5%= 1,317
21 AR IAFEEGE 320-12 |29,257,000¢1 x 14 X 3.12%= 913
7H A AN RTE = 320-12 |29,257,000€ x 17 X 0.9%= 264
B 18 REF U 320—12 129,257,000 X 1% X 1.5%= 439
9} Q17| 0ok H L 320—12 29,257,0009 X 19 X 3.12% X 6.55%= 60
3h) HAAHFE 320-12 |2,067,06090 x 1= 2,068
2) srgr2rel Y AE &) 22,350
7H AFEL-3En] 210-01 (25,0009 X 15% x 43| = 1,500
L) o129n] 210-01 |10,000€1 X 100%-= 1,000
o 7+eh3) 230-02 30,0001 X 109 x 23] = 600
Zh) oIn] 220—01 75,0009 x 39 x50Y = 11,250
u}) 71ERE-4 1] 210—11 100,000€ X 105 x 23] = 2,000
Hh) AN F 210—09 200,000 X103 = 2,000
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714 AR EAA NS AL (9] - A
X 1=}

Hopn jﬁg /‘32 ﬂ;j: AFS e B AEU 2018 (A) | 20179 (B) | T (A-B)
AP AVREE7171HE 430-01 1,000,0009 x43]= 4,000
3) A BHAA 320—11 [100,00090 X 16 X53]= 8,000
4) goprtedtEAdg Y qAn 24 183,640
7h AXRE LG 210-06 |50,000€ x40 x 703] = 140,000
1} ofn] 220-01 |20,000¢ x40%8 x 409 = 32,000
th 7+4H] 210-04 |2,0009 x 3007 x 43] = 2,400
2}) AL E ) 210-01 |20,0009 X 10% x 3% = 600
DI AT b 430-01 |20,0009 X 10% x 53] = 1,000
up) 73] 230-02 |30,0004 x 207 = 600
AP A8 AARA] -2l H] 210-01 |10,00049 X 50% x 23] = 1,000
o) A= Feln] 210-01 |20,0009 X 50% x 23] = 2,000
2 7HA 8 210-04 |2,0009 x 407 x 73] = 560
21 211) 210-04 |8,00091 x40 x 44 = 1,280
7h A [ REATL 1,000

(1) 7% 210-06 |160,0009 x 47 = 640

2) 7} 210-06 90,000¢ x 49 = 360
Ep) Aborolezralal s 210-01 |300,0009 x 2% = 600
) 71EF-H] 210-15 |100,0009 X 6% = 600
5) HappyCamp+% 12,760
7}) BYARE-EH] 210-01 |20,0009 X 20F x 78]= 2,800
) An] 210-04 |8,0009 X609 x 44 = 1,920
th 7HAH) 210-04 2,0009 X607 x 23] = 240
2} <uka) 210-04 40,0009 X 60 = 2,400
uh) ekl at s 210-07 |600,000¢] x 3tj= 1,800
vh) 7h3) 230-02 |30,0009 %207 = 600
AD ZATEE [DRPGAH 3,000

(1) 71% 210-06 |160,0009 x 12 = 1,920

(2) =9 210—06 [90,0009 x 129 = 1,080
6) AHE-9 1,460
7h ARG 210-06 |50,0004 x 207 = 1,000
) An] 210-04 |8,0009 X107 x 24 = 160
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A= S S CAY)
ﬂ:g PRSIRE == RE 20181 (A) | 20179(B) | Z7(A-B)

th 73 230-02 |30,0009 X 10 = 300
47 dF 5,120 5,120 0
HAZFHZTEFA A 4,700 4,700 0
1 A A0-EHE 4,700 4,700 0

7h AR A A2 4,700

1) A [AREALZ] 210-06 |100,0009 x 16 = 1,600

2) o1 H] 210-01 |5,0009 x 100%= 500

3) Qg 210-01 |14,0009 x 45 = 630

4) A1) 210-04 |8,0009 %1054 = 840

5) 7FA1H) 210-04 |2,0009 %1207 = 240

6) 73 230-02 20,0009 X307 = 600

7) SYAFE-EN) 210-01 |10,0009 x 29%= 290
A WA & 420 420 0
1. A ZAA L 420 420 0

7}, 7ver3) 230-02 |20,0009 x21%= 420
T A A 1,631,470 1,189,890 441,580
frolmS-=d 123,970 111,180 12,790
IR D S X 2,640 2,640 0

7}. odH] 220-01 |20,0009 X 66 x2U= 2,640
2. 4x937} 4,830 5,040 A210

7h A LE A A 4,830

1) ARG 210-06 |50,000¢ X 3% x 138] = 1,950

2) A s 210-06 |30,0009 % 137 x 48] = 1,560

3) A4 7}oin] 220-01 20,0009 X3 x134= 780

4) H7F A AFF7Eo] ) 220-01 [30,0009 %6 x3Y= 540
3. Solme= ¢ 97,000 84,000 13,000

7}, A S A A E 210-09 |500,0009 x 5% x 28] = 5,000

L} $-odn 43,000

1) AFR8-3E0) 210-01 |25,0009 X 10% x 83| = 2,000

2) U AN B 2} 110-03 20,0009 x 2% X 249 X 10¥€= 9,600

3) aebd gl ozl g 210-13 |180,0009 x 28] x 127 4= 4,320
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713 AR EAN DA DA (9] - A9Y)
= [e) 1=}
wopvy S0 | 2R | AT RERE 2 4% Ao 20186 (A) | 2017€®) | S2(A-B)
4) 3P 210-02 |500,0009 x 127§ €= 6,000
5) A a) oA v 210-09 |600,000€ x 107} &= 6,000
6) 71 EFA Z1] 210-11 450,000 x12/1€¥ x23]= 10,800
7) 1+ 230-02 |24,0009) X207 x 23] = 960
8) 4] 210-04 |8,0009 X 90 = 720
9) Q1 n 210-01 |5,0009] X 100% x 23] = 1,000
10) o) 220-01 |20,0009) X 27 x40 = 1,600
o}, A elg ol An] 110-03 12,200,0009 X 27 X 109 = 44,000
2}, 9] 9 A 3 A A H] 420-03 |5,000,0009) X 18] = 5,000
4. FAQRLEAFZUEATL P 17,500 17,500 0
7} 2929 620-03 |2,500,0009 X 7% = 17,500
5. X 4B U Y BAGAS 2,000 2,000 0
7h AL AR 5 2,000
D) At (DA 250
7h 7= 210-06 160,000 x 1= 160
W) 23 210-06 90,0009 x 1% = 90
2) o12jn) 210-01 |5,0009 x 42%-= 210
3) 73 230-02 24,0009 X107 = 240
1) H<=at 210-01 |100,0009 x 17}= 100
5) 7k-218] 210-04 12,0009 x200% = 400
6) WAFL-Zn) 210-01 |4,000€ % 2007)= 800
A YA E Y 2P 1,153,400 739,610 413,790
1. X LEYA Y 1,065,400 658,010 407,390
7h R drbE s E A 32,800
1) $91] 620-03 |8,200,0009 x 47] €= 32,800
U, onpE s R g 4] 9 15,000
1) 254 620-03 |2,500,000¢ x 67] €= 15,000
Uh 2] 2 a5 I A 2k /1 1,017,600
1) AIZHAI 7] 7HA) AFQ1 7 1] 620-03 |21,200,0009) X 487 = 1,017,600
FEARGALLS 88,000 81,600 6,400
7}, Q17N 620-03 10,0009 X 160A] 7t x 558 = 88,000
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CA)

620-03

620-10
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220-01
220-01

210-06
210-04
230-02

210-06
210-04
320-02
230-02

210-06

A=Y 20189 (A) | 20179 (B) 7ZH(A-B)
35,000 20,000 15,000
35,000 20,000 15,000
5,000,000 x 771 = 35,000
319,100 319,100 0
319,100 319,100 0
180,400
41,000€ X204 x 107 € x 2271 ¥4 = 180,400
2,400,000¢¥ x 38714 = 91,200
47,500
2,500,0009¥ x 1971 = 47,500
130,804 123,688 7,116
20,800 20,800 0
20,800 20,800 0
2,600,000 x 483 x 23] = 20,800
110,004 102,888 7,116
110,004 102,888 7,116
71,975
20,0009 X674 X190 = 22,800
20,0009 x 27 x50 = 2,000
3,360
70,0009 X4 X 63] = 1,680
2,000 X957 X 63] = 1,140
15,0009 X124 X 33] = 540
4,115
70,0009 x 129 X 33]= 2,520
2,000 X557 X 23] = 220
50,0009 X209 = 1,000
15,0009 x 257 = 375
15,000
3,500
160,000 x 79 X 23] = 2,240
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718 AR TR SA DA (9] - A Q)
X )=
wopvy S0 | 2R | AT Aripel %A% SESE 20184 () | 20179 (B) | S7(A-B)
(2) =3 210-06 |90,0009] X 77 X 2A]7k= 1,260
) AAFrE R [ RAR2] 3,840
(1) 71& 210-06 |100,000¢ x 6% x 43]= 2,400
(2) =3 210-06 60,0009 X6 X 44| 3t= 1,440
o 9u8 210-01 |14,000€ x 100w = 1,400
2 7] 210-04 12,0009 X138 x53]= 1,380
uh) SYAFL-EN) 210-01 |10,0009 x100F= 1,000
vh) 7+3) 230-02 15,0009 x20% x 33] = 900
A} <12n] 210-01 |10,0009] x 1493 x 28] = 2,980
6) AlE2-F 1] 9,700
7H AF71ddg s 210—13 [50,0009 x12¢¥= 600
W) Ao+ 210-02 [60,0009x12¥= 720
o) WA AR EH] 210-01 |10,0009 x 270%= 2,700
Zh) AFELEn) 210-01 |14,0009 x320F= 4,480
u}) XA E] AL n) 620—03 100,0009x12¢= 1,200
7) SEXZ I 5,000
7hH 24] 210-04 |7,000€ X 3009 = 2,100
) 7k 210-04 |2,0009 %500 = 1,000
o)) X F 73 H| 210-01 10,0009 x190F= 1,900
8) E3twS-AT3 A 240-01 [500,0009 x2€ = 1,000
9) BExFe77174 430-01 |200,0009 x 20F= 4,000
10) dgAFesF 5,000
7H e A= 210-07 600,000 x 1= 600
) 2] 210-04 |8,0009 %207 = 160
th 72N 210-04 |2,0009 %220 = 440
Zh) SYA}LEn) 210-01 |10,0009 x 350%= 3,500
o} 74eh3 230-02 |15,0009 x 20 = 300
L}, ol AN 38,029
1) X 8A} 30,529
7hH 71EF 110-03 |1,787,6709 x12¢¥= 21,453
) Axl4or 110—-03 |70,9369x15%U= 1,065
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A8 A 93 (el - ")

?}2 ﬂ:g Apeiu el == Az o 20189 (A) | 20179(B) | TZ(A-B)

o} A&7 110-03 500,000 x 173 x 28] = 1,000
) WE R ZH] 110-03 [60,0009 %17 x12¢¥= 720
nh) B A A2 320-05 |28,421,00091 %19 x1/12¥= 2,369
Hh) g o G2 v 110-03 80,0009l x 1 x129= 960
AP A SR 320-05 |28,420,07091 % 4.5%= 1,279
oh) AR F 320-05 |28,420,07091 % 3.12%= 887
) A A R 8 320-05 |28,420,07091 % 0.9%= 256
2 TERIRGE 320-05 28,420,0709 X 1.5%= 427
7hH w7k AR 320—05 [886,7109 X6.55%= 59
B 292 Rsy 110-03 |54,0009 x 1% = 54
2) Ao &4 35 240-01 |50,0009 x5% x 129 = 3,000
3) £33 WAt Y AN 240-01 |75,0009 x5 x 129 = 4,500

I E2Y 3} 14,725 14,661 64

YA LS 7,725 7,661 64

L A nEA 4 7,725 7,661 64
7h 2 eI AAE 4,885
1) AAFLEn) 210-01 |1,0009 x652%= 652
2) AW (G2 210-06 30,0009 x13% = 390
3) 7+=Z) 210-06 50,0009 % 13 = 650
4) 2] 210-04 |8,0009 X137 x 22]= 208
5) 7HA1H] 210-04 12,0009 X275 = 550
6) =A< 1,000
M BYPxEen 620-03 |1,000,0009 x 1= 1,000
7) ZA 8] (22 210-06 |45,0009 %34 = 135
8) WA} 210-06 |100,0009 x 137 = 1,300
. S5 st aherg A 2,840
1) =g 210-06 |50,0009 x 107 x 28] = 1,000
2) A8 (FH2A) 210-06 |30,00091 %107 x 28] = 600
3) 211 210-04 |8,0009 x 127 x 24 = 192
4) 7HAn] 210-04 |2,0009 X 127 x 23] = 48
5) +JHIA 4 1,000
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718 AR AR SA D (gFo] ;29
= o )=
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
7} ZE sk 62003 |1,000,0009 X 13= 1,000
FALE ALY 7,000 7,000 0
1. A TSR LA 7,000 7,000 0
7} ZEART (AR ARZ] 210-06 |100,0009) x 6% = 600
U, AP g3 210-01 10,0009 x310%= 3,100
t}, o] ] 220-01 |75,0009 x 30 = 2,250
2}, 713 230-02 |25,0009 x 217 x 23] = 1,050
EApS8s 33,900 33,900 0
EM=2ms84s) 33,900 33,900 0
1. EA=ZAA Y3 33,900 33,900 0
7). eEA AT A A o
1) AFELolH] 210-01 |20,0009 x 457} = 900
U FAYEEY 3] 8,500
1) AFELol] 210-01 |20,000€ x 1007]= 2,000
9) ZA] (G2 210-06 |45,0009 x 6745 = 270
3) AAMT) 210-06 |50,0009 x 54 = 2,700
4) A 21004 |8,00091 x50 x 24] = 800
5) 7HA1H] 210-04 |2,00091x215% = 430
6) 71tr3 23002 |25,00091 x 267 x 23] = 1,300
7) SWAFLEN) 210-01 |100,000¢ X 10%= 1,000
o} EE ol &g s 24,500
1) Zstm 620-03 |500,0009 X 438 = 21,500
2) A} e 620—-10 |500,000¢ X 68l = 3,000
PEXSEEY 275,142 275,116 26
PEASECE LA 275,142 275,116 26
1. AR g G4 AR 1A 275,142 275,116 26
7h. fojnld o Akl zin] 120,939
D NNEF 110-05 |2,400,0009 x 31 x 129 = 86,400
9) 4234 110-05 |150,0009 x 3% x 129 = 5,400
3) Ul Zr g 320—13 |2,400,000¢] % 37 X 129 X 4.50%= 3,888
1) AR RFRG 320—13 |2,400,000¢] % 37 x 129 % 3.12%= 2,696

17/61




7138 AR EAN RS A (cFe] : 19
Z o )=
wopvy S0 | 2R | AT RERE 2 4% Ao 20186 (A) | 2017€®) | S2(A-B)

5) A A RE 5 320-13 [2,400,0009 x 3% x 12€ X0.9%= 778
6) A7k 320—13 [2,400,0009 X 3% X129 X 3.12% X 6.55%= 177
7) HRAAYZ 320—13 28,800,00091 x 38 X 1/12¥ = 7,200
8) FAA YN 320-07 [400,0009 x34 x129= 14,400
B e B SIS S Pk 31,662
D 71&= 110-04 |1,601,0909 X149 x129= 19,214
2) Zul] FH L 320-05 1,601,090€ x 1% x12¥ X 4.50%= 865
3) AR RIF 320-05 |1,601,0909 X1 X129 x3.12%= 600
4) A A RS 7 320—05 [1,601,0909 X 1% x12¥X0.9%= 173
5 IE&RIFRIT 320-05 [1,601,0909 x 18 x12¥ X 1.5%= 289
6) wol&7| Qo d R+ 320—05 [1,601,0909x 1% %129 X3.12% X 6.55%= 40
7) E 2 A= 320-12 |23,653,080¢ x 19 x1/12¢= 1,972
8) WA Z7n 110—04 |500,000¢ x 17 x 23] = 1,000
9) WEHZH]| 110-04 60,0009 x 1 x12¢= 720
10) A7)\ LRI+ 110-04 |230,0009 x1%8 x12¢= 2,760
11) A F21] 110-04 [80,00091x 1% x129= 960
12) 2342553 110—04 |10,000¢ X5% X 3A|7kx 29 = 300
13) A 7)ol 110-04 |500,0009 x 1% = 500
14) ApAsm| B 2+ 110—-04 |467,080¥ x 1% x43]= 1,869
15) ur33 122 n) 240-02 400,000 x 14 = 400
o} FoJ e 63,681
1) #Yu-FAd 25,000

7H FELF 620—03 10,800,000 X 1 1= 10,800

) w9 u] 620-03 [13,000,0009 X 11.= 13,000

h A A A2 28] 620-03 |1,200,0009 X 13= 1,200
2) A3+ 210-02 60,0009 x12¢¥= 720
3) WAL A} 7 A 2] 210-01 |50,0009 x 40%-= 2,000
4) A5 210-01 10,0009 x1%&= 10
5) A& A EH] 210—11 [300,0009 X 163]= 4,800
6) A3 sk walaEA] 210-07 |600,0009 x 30t)]= 18,000
7) A A8 -5 8] 210-09 |750,0009 X 1% x53]= 3,750
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AFduy el ERpS 173 A2y o] 2018 (A) | 20174 (B)
8) 7+et3) 230-02 |20,00091 x 2078 x 43] = 1,600
9) AHEreln) 210-01 (13,0009 x6487)= 1,944
10) oFELo]n) 210-01 |237,0009 x13]= 237
11) A48 (F34) 210-06 |45,0009 x 6 x 27} %= 040
12) 3w (F34) 250
7 7] 210-06 |30,0009 x5 = 150
W) 23t 210-06 |1,0009 x5 x 20%-= 100
13) A8 7H=n] 210-06 |50,0009¢1 x 8% = 400
14) AEn 210-06 |80,00091 x 87 x 23] = 1,280
15) 918 210-01 |14,0009 x 159 x 15v)= 3,150
RS R R B 9,000
1) ALy assa 210-01 |1,500,0009 x 2= 3,000
2) HAMZ 310-01 |2,000,000¢ x 3% = 6,000
mh GOl L5 27810
1) A [ 82740 ] 210-06 |50,00091 % 30% x 45 = 6,000
2) xpekolx}a 210-07 |600,000¢ x 41| x 23] = 4,800
3) Balg 320-06 |2,1009 %150 = 315
4) 2n) 310-01 [8,0004 %1507 x 34 = 3,600
5) 7HA1H] 310-01 |2,0009 % 150 x 235]= 600
6) <] 310-01 |40,0009 x 1507 = 6,000
7) E3hAFn) 210-15 |20,0009 x 1507 = 3,000
8) WAHE-FH| 210-01 |35,0009 X 100%= 3,500
Hf k=Rl o} ARel AN 22,045
1) B 110-05 |2,000,0009 x 1 x 10¥= 20,000
2) FNAFR G 320~13 |20,000,0009 x 18 X 4.50%= 900
3) ARG 320-13 |20,000,0009 X 1% X 3.12%= 624
4) AR = 320-13 ]20,000,000€4 X1 x0.9%= 180
5 1LERIF I 320-13 /20,000,000 x 17 X 1.5%= 300
6) w17 QR YR 320-13 |20,000,000¢ x 17 x 3.12% x 6.55%= 41
93,446
ik e o801
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)

AP S =A== AEU S 2018d(A) | 20174 (B) H(A-B)
1. A Bz 35,240 35,337 297
7F 71w 110-04 1,601,090 %18 x 129 = 19,214
B 110-04 [68,18091x 1% x21%= 1,432
), 23 gaeg 110-04 12,7909 x 17 X 4417 x 50U = 2,558
2}, WA g ) 110—-04 |500,00091 x 17 x 28] = 1,000
uh, A7) LA 110-04 |250,00091 x 1 x 129 = 3,000
vl W% R 2] 110-04 60,0009 %17 x 129 = 720
A}, A N AR 110-04 (80,0009 %17 x 129 = 960
o}. A 7| Ako] = 110-04 |500,000¢ x 1= 500
2}, FHlAF R 320-12 |29,382,860¢ X 17 X 4.5%= 1,323
2, AR 320-12 |29,382,860€ X 17 X 3.12%= 917
7} A AR = 320-12 |29,382,860€ %1% x0.9%= 265
B gz 320-12 |29,382,8609 x 11 X 1.5%= 441
b e A NI S = R A= s 320—12 29,382,860 %17 x3.12% X 6.55%= 61
GRS = 320-12 |29,382,8609x 1% x1/129= 2,449
A, w2 2 ) 240—-02 |400,0009 X 1% = 400
2. 2 g AR Z A AN 30,561 29,463 1,098
7F 71w 110-04 1,601,090 %1% x12¥= 19,214
U, Az 110-04 61,0009 %18 x17%= 1,037
U}, 2yl 110-04 11,5009 x 17 X 4417k x 219 = 966
2}, w2 g ) 110—-04 |500,00091 x 17 x 28] = 1,000
e A e = 110-04 (90,0009 %1% x 129 = 1,080
vl W= K 7 110—-04 60,0009 x 17 x 129 = 720
A}, A ol AR 110—-04 [80,0009 %17 x 129 = 960
of, A 7)Aol = 110-04 |500,0009 x 1= 500
2}, wul A F R 320-12 |25,476,0809 X 1 X 4.5%= 1,147
b AR L 320-12 |25,476,0809 X 17 X 3.12%= 795
7} A A w7 320-12 |25,476,080€ X 19 X0.9%= 230
B 14Rsng 320-12 |25,476,0809 X 1% X 1.5%= 383
b e R A NI A m R R = = 320-12 |25,476,0804 X 1™ X 3.12% X 6.55%= 53
of, B {2 Y= 320-12 |24,912,0009 x 19 x 1/12¢= 2,076
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R

Ay =A== g 2018 (A) | 20174 (B) #(A-B)
7. 9E=E E 2 n) 240-02 |400,0009 x 1= 400
bR R S A DA K| 27,645 25,175 2,470
1. W Ao 20,000 19,500 500
7h. uk w Al & vl 20,000
1) AFF-83) 210-01 |10,000€ x 25 x 53] = 1,250
2) & Z=u} 210-01 100,000¢! % 37)= 300
3) AFEeln) 210—-01 |10,000¢ x3571= 350
4) At [AREARS] 1,440
b 7)1 210-06 |80,0009 x 12 = 960
W x=3 210-06 |40,0009 x 127 = 480
5) oju] 220-01 |20,00091 %29 x 659 = 2,600
6) A ZH 210-11 |10,0009 X 300%F x 38| = 9,000
7) L7717 430-01 |100,000¢ x 16% = 1,600
8) 7+et3) 230-02 |25,0009 x 8% x 23]= 400
9) £93n] 620-03 |180,000¢ x 123]= 2,160
10) SAREZ Y] 210-01 10,0009 x90F= 900
2. $FANY LS 3,730 1,790 1,940
7}, AAVE 210-06 50,0009l x 8= 400
. 3R A4 1,000
1) 3Hxe 620-03 |1,000,0009 x 1 1= 1,000
t}. AH] 210-04 (18,0009 x 107 x 22 = 160
2}, YAFLE ) 210-01 10,0009 x 25%= 250
ul, k2] 210-04 12,0009 X 107 x 63]= 120
vl A =g 210-06 |50,0009x10% x 38]= 1,500
Ab. 7heE3 230-02 |20,0009 x 157 = 300
3. adHsteE T3 3,915 3,885 30
7}, A8 (F32]) 210-06 |45,000€ x 3% X 57} %= 675
U A 210-06 50,0009 x20%= 1,000
th A3 A58 A =) 210-11 |20,0009 x 45%= 900
o}, 2] 210-04 |8,0009 x 307 = 240
ul, 7F214) 210-04 |2,0009 X450 = 900
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7189 ANEEARA S L (h9] @ H9)
2N o =]
wopvy S0 | 2R | AT Ariue] % A5 Aol 20184 (A) | 20179(B) | F7(A-B)
vl SAFE-Z 1) 210-01 20,0009 x10%E= 200
AL S 3} 928,856 395,856 533,000
S ASEYsA A J 2,700 2,700 0
1. 27| S T A = 2,700 2,700 0
7} qu] 220-01 [20,0009 x 3™ x454= 2,700
ASSHZEANY 425,756 393,156 32,600
1. A7 X AAH] 68,256 63,156 5,100
7}, o1 AN 64,056
1) 718= 110-03 |55,7609 x 294 x 3659 = 40,705
2) Axpor 110-03 |55,760€9 x 2% x 159 = 1,673
3) WA F ) 110-03 200,000 x 273 x 28] = 800
4) NERZHT 110-03 |60,0009 x 2% x 129 = 1,440
5) 2RS4 110-03 10,4559 x 278 X 30417k x 129 = 7,528
6) A7 ZE7AE 110-03 50,0009 x 27 x12¥= 1,200
7) Zu ol FH YT 320-05 |53,345,2009 X 4.5%= 2,401
8) AR I 320-05 |53,345,200¢ X 3.12%= 1,665
9) A A K = 320-05 |53,345,2009 X0.9%= 481
10) 2 &1 I 320-05 |53,345,2009 X 1.5%= 801
11) A&7 ok E G 320—05 |53,345,2009 % 3.12% X 6.55%= 116
12) HA48H= 320-05 [2,222,7209 x 2% = 4,446
13) 93 2] n] 240-02 400,0009 x 2= 800
L}, ofn 220-01 |75,0009 x 27 x 28 = 4,200
2. §uLFFHHA A 357,500 330,000 27,500
7} SR 9 357,500
1) ¥HxSsw 620-03 |1,300,0009 x 1487 = 192,400
2) 3HFs 620-03 |1,300,000¢ x 957 = 123,500
3) Al sst 620—10 |1,300,000¢ x 327 = 41,600
S A S A DA ANA 500,400 0 500,400
1. Gt 32N 500,400 0 500,400
7F B8k 500,400
S 229,800
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CA)

A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

7h mALE - 24 420-03 [229,800,0009 x 12]= 229,800
2) BAEASFILss 270,600
7h v E A A 420-03 |270,600,0009 x 14 = 270,600

90,930 79,530 11,400

£843 75,930 79,530 A3,600

Sl P AR 27,040 31,640 24,600
e o 18,360
1) AR [ RPdARS] 6,720
7h 7] 5 210-06 |80,000¢ X 17 x 563 = 4,480
W) =3 210-06 |40,0009 x 1% x563]= 2,240
2) ZAAr TS [ B E7AM ] 210-06 |50,0009 x 19 x56A]7k= 2,800
3) AR [ RE7EAL2] 210-06 |30,0009 x 27 X 56A] 7F= 3,360
4) 7+2+3) 230-02 |20,0009 X 107 x 23] = 400
5) 7+21H] 210-04 |2,0009 X 60 x 53| = 600
6) Ay 210-04 |8,0009 x 60 = 480
7) 7R ZE71H] 210-13 100,000 x40 = 4,000
U G779 8,680
1) A [YREEARS] 210-06 |80,0009 x 11 x 63]= 480
2) A (R4 210-06 |50,0009 X 107 x 24| Zk= 1,000
3) AR (B 27HA12] 21006 |30,0009 x 10 X 24| 7b= 600
4) YAHGEA] 210-01 |20,0009 X 40% x 23] = 1,600
5) ¢l4H] 210-01 |2,000€ % 1,000%= 2,000
6) 7+cr3 230-02 |20,00091 % 7% x 23] = 280
7) A8 210-04 |8,0009 209 x 24 = 320
8) FAioxatm 210-07 |2,400,0009 x12= 2,400

2. T8 =ABLERAL 27,000 27,000 0
7} A Z N 210-11 |10,0009 X 220% x 58] = 11,000
. ZdAbT (R 7EA ] 310-01 |50,0009 x 107 x 32A] 7k= 16,000

3. o] Yo FAAA Y 4,640 3,640 1,000
7F. ARSI 320-02 |4,000,00091 X 13]= 4,000
U, mo]@o]w 640
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EEBA NS A A% K
o )=
?};3 ﬂg At S A e 2018 (A) | 2017 (B) #(A-B)
1) A4 210-01 [20,0009 x3274= 640
4. 3 F-E A PAA A 17,250 17,250 0
7}, SARE-E1] 210-01 50,0009 X 145%= 7,250
. dE T 210-01 |10,0009 x 3007} = 3,000
t}. A1) 210-04 [8,0009 %250 = 2,000
o}, F oA %) § g 210-13 |5,000,000¢ x 13]= 5,000
GEstd S| 2Tl A S X ¢ 15,000 0 15,000
1. g&E3lu s 15,000 0 15,000
7} R e g s 320-01 |15,000,0009 x17]#= 15,000
THLEAEF 2,000 2,000 0
S ZALE T Y 2,000 2,000 0
1. 3addAg5A4d 2,000 2,000 0
7F A adag 2 Q 320-11 |2,000,0009 x 154 = 2,000
S EA = 98,954 134,226 35,272
SR GA =AY 36,110 28,910 7,200
1. AR 2,700 2,700 0
7F. AFE ] 210-01 |20,0009 % 1357]= 2,700
2. A ELF 18,000 10,800 7,200
7F AEEs A g v 320-02 2,000,000 x 67]#= 12,000
L. o] 23 A S o st - 6,000
1) 3HxeT 620-03 |3,000,0009 x 21= 6,000
3. AN IA T 15,410 15,410 0
7} SR FA = 3,300
1) oJn] 220-01 (20,0009 %118 x159= 3,300
U s E Y 7,310
1) SYAFEEH] 210-01 |10,0009 x35%= 350
2) 2n] 310-01 |8,000¢ x50 x 22]= 800
3) k2| 210-04 |2,0009 x50 x 35| = 300
4) 7vers] 230-02 20,0009 x 87 = 160
5 7193 = 210-07 [100,0009 x 3t]= 300
6) Fardxsm 210-07 300,0009 x14= 300
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A SERE

i == AEU S 2018 (A) | 2017d(B)
7) g9 210-01 |250,0009 x 2= 500
8) &Aut 210-01 |100,000¢ x 17= 100
9) Z7hstmA ¢l 4,500
b BEEs 620-03 300,000 x 8iL= 2,400
W) AFg sty 620-10 300,000 X 7iL= 2,100
ERLEE e A= R 4,800
1) AL 210-01 |8,0009x160%= 1,280
2) Q1) 210-01 14,0009 X 160%-= 640
3) AR [ HEAM ] 210-06 |160,000¢ x 27 x 23] = 640
4) A8 210-01 |14,0009 x 12 = 168
5) 7+21H] 210-04 12,0009 x196%= 392
6) 2H] 210-04 |8,000€ %1607 = 1,280
7) 723 230-02 |30,0009 x 108 = 300
8) &=ut 210-01 |100,000¢ x 17= 100
SuF g 62,844
L StaF g4 62,844
7} S A Y 2] 8 2,004
1) 7+eh3) 230-02 |20,0009 x 257 = 500
2) An] 210-04 |8,00091 % 34 x 2] = od4
3) At [ARPEARS] 960
b 7= 210-06 |80,000¢) x4 x 23] = 640
) =3 210-06 40,0009 x 47 x 23] = 320
o 5 shA kA o M A 4l 60,840
1) et gn|ju] ~o] &5 210—-01 |1,50091%3,3807 x12¢¥= 60,840
SRR ] 367,692
TAFTETA A 367,692
1. S RAAEFAAATHAY 263,800
7t WeeZ 224 60,000
1) 7135 60,000
7hH ¥YH x5 w 620-03 12,000,000 x19w= 38,000
W) sty 620-03 |2,000,000¢ x 6iL= 12,000
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7138 AR EAN RS A (9] ")
= 1=}
wopvy S0 | 2R | AT NERE 5% AE 201849 (A) | 20179(B) | Z%(A-B)

th Abg =8 620-10 |2,000,000¢ X 53.= 10,000
L} WeeAlH 24 200,000
1) AEdeelgeg| 171,919
7hH B 110-03 |25,632,00091 X594 = 128,160
W) Az 110-03 70,0009 x5 x 1= 350
) 2 Feg 110-03 |20,000¢ X 2464] 7k= 4,920
b HHF 7 110-03 |500,000¢ x5 x 23] = 5,000
ub) A7) A o] &+ 110-03 |500,0004l x 57 = 2,500
Hp) 23] E2)n) 240-02 400,00091 X549 = 2,000
AP EU A FRGE 320-05 |27,360,000%5% x4.5%= 6,156
oh) AR IR+ 320-05 |27,360,0009 X 57 X 3.12%= 4,269
2} A AR E 7 320-05 |27,360,000€ X 5% X 0.9%= 1,232
2H) 1 ERI R 320-05 [27,360,0009 x5 X 1.5%= 2,052
7hH welA7|Qoke R o 320-05 |27,360,0009 X5 X 3.12% X 6.55%= 280
Eh) gHAAHF 320-05 |3,000,00091 X 54 = 15,000
2) A/ H 3 WA e A 2,700
7hH g ] 240—-04 |75,0009 X3 x12¢9= 2,700
3) oin] 220-01 (75,0009 x40 = 3,000
4) AE-GH] 13,085
7h) 2239w T AT 210-01 |100,000¢) x 6% x 38 = 1,800
) AR-E-3E1) 210-01 |10,00091 % 305%= 3,050
th o1n] 210-01 |10,000¢1 X 280%-= 2,800
b Ape-odu) 1,845
(1) 550 210—-10 |150,00091 x29= 300

(2) Z=An) 210—-10 |50,00091 < 129 = 600

(3) Rz 210-02 |750,0009) x 1tj= 750

(4) A=A 210-02 (65,0009 x33]= 195

uh) WEY ST 210-06 |20,000¢] x5% x 2038]= 2,000
up) 7+-3] 230-02 |30,000¢) x4 x 33]= 360
AP 7FA1H] 310-01 |2,0009 %647 x63]= 768
oh) AL ] 210-07 [38,4509x 1t x12¢¥= 462
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(9] - )

AF A= AEU 20184 (A) | 20179 (B) | T (A-B)

5) ARE-GH] 3,336
7H A G [EE A ] 210-06 |300,000€ %109 = 3,000
W 9ua 210-01 |14,0009 x 24)= 336
6) eI - 5,000
7hH AE7 320-02 |2,000,0009 X 17] %= 2,000
W) X273 320-02 |1,500,000¢ X 27] = 3,000
7) AEADolE gl 210-01 |120,0009 x 89 = 960
. wddE e F AT A 3,800
D rou A=« 3,800
7hH 14 n] 210-01 [4,0009 x 48%= 192
p) &gt 210-01 100,000¢! x 17}= 100
) Yug 210-01 |14,0009 x1751= 238
oh) Ak (AR ] 3,270
(1) 7]1% 210-06 |160,000¢ x 27 x 63]= 1,920
2) =¥ 210—06 90,0009 x 5% x 33] = 1,350

2. A=l x| ¢ 92,892 92,872 20
7F. New—Start™ 2 1389 89,072
1) New—Start® % 72,310
7h) Aol AN 110-03 66,6309 X507 x133]= 43,310
W) ZE=7oin) 220-01 |20,0009 X 3% x 1509 = 9,000
th v ZE =7 odn 220-01 20,0009 X 1009 X 10% = 20,000
2) Adgdsr=2 1 11,762
7H A A 210—-01 |3,00091 x 8™ x 383]= 912
W) AFEEn) 210-01 10,0009 X 248% = 2,480
oh) A 3in 210-12 15,0009 X 787 x 53] = 5,850
b An) 210-04 [8,0009 X 457 x 2] = 720
ub) 7F21n] 210-04 |2,00091 x50 x 33| = 300
vh) 9JEx 77|39 320-02 150,000 X109 = 1,500
3) A3 5,000
71 ZdAbr R (AR 3,660
(1) 7]1% 210—-06 |160,0009 %19 x153]= 2,400
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719 AR E AT DA COREE)
= 1=}
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
(2) %1} 210-06 |90,000¢ x 11 x 143]= 1,260
W} daue 210-01 |14,0009¢ x 8v= 112
oH ek 210-01 100,0009 x 471= 400
2h) 7] 210-04 (12,0009 %1144 = 228
nh) 7+ 230-02 |30,000¢) X 109 x 23] = 600
U, 8] 2 kel o] o 2,000
1) S E e A 3 A& 2,000
7h ARR-E-3En) 210-01 |20,0009) X 40F= 800
h) SALL-EH) 210-01 |100,0009 x 5% x 23] = 1,000
th) 73] 230-02 20,0009 X104 = 200
T}, ARG 210-01 |50,0009) x 8% x 28] = 800
g}, ojn] 220-01 |20,0009 X394 x17U= 1,020
3. AN DAL EALA - H 11,000 11,200 A200
7} A A3 A XY 320-02 |5,500,000¢ X 2%-7] = 11,000
AZASTS 56,000 0 56,000
ANBAS TS 56,000 0 56,000
1. AZ TSAY 56,000 0 56,000
7h A E A Fur 3] 56,000
1) A1) 210-01 |300,0009 x217)= 6,300
2) a4t 210-01 |50,000€1 X 6071= 3,000
3) AP A 5H) 210-11 |5,00091 X500 X 10% = 25,000
4) 2] 210—-04 8,0004€1x100% = 800
5) 7F2H) 210-04 (12,0009 X100 = 200
6) AFELEn) 210-01 |744,0009 % 10%= 7,440
7) H|EAxE 210-07 |1,760,000¢1 X 13]= 1,760
8) 7te+3 230-02 |20,000€) X 109 x 53] = 1,000
9) A (R E7IA] 210-06 |50,0009 X 149 X 15A]7}= 10,500
st g 712 2,000 2,000 0
8} w53 7142 2,000 2,000 0
1. st 7} 2,000 2,000 0
7}, st 7 A Y 2,000
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7187 - ANEEA S A 9 (2] - ")
= o A=)
Bopnm ;‘3}2“ ?};3 ﬂg NERE = A 20184 (A) | 20174 (®B) | Z7(A-B)
1) 93| A 210-06 |70,000¢ x 87 x 33]= 1,680
2) 7Fr3) 230-02 (20,0009 X8 x 23] = 320
B A5 A w3 5,393 5,514 a121
A B U stA A 5,393 5,514 a121
1. AR QA 7 5,393 5,514 al121
7k A sl g el 9] 3] 4,273
D A e 2,100
7P 71 210-06 |70,0009 x 74 x 33]= 1,470
W} 23} 210-06 (30,0009l %7 x 33]= 630
2) A8 210-04 |8,0009 X7 x 104 = 560
3) elgolro) 110-03 |66,6309 %2 x 10U = 1,333
4) 7413 230-02 20,0009 x 77 x 23] = 280
L AR A A E YA o] 91 2 3] 1,120
1) FA5gr 210-06 |70,0009 x 4% x 43]= 1,120
ASATH T EFALAEH LY 15,000 15,000 0
DEHEATLEIA L 15,000 15,000 0
1. 52754 15,000 15,000 0
7t S (A3) T 12,160
1) T EH) 220-01 |160,0009 x 209 = 3,200
2) 21H] 210—04 8,000 x 359 x84 = 2,240
3) Z:uh) 210-04 40,0009 x40 = 1,600
4) elxte 210-07 |600,0009 % 3tj= 1,800
5) 7Feks 230-02 |30,0009 x 10 = 300
6) BAFLEn) 210-01 |100,0009 x 23%= 2,300
7) whAE 210-03 12,0009 x40 = 480
8) 7HAlu] 210-04 |2,0009 x 407 x 33]= 240
U s g 2,840
1) ZA48] (a2 210-06 |45,0009 x 107} = 450
2) A8 (F82) 210-06 |30,0009 x 97 = 270
3) 7=t 210-06 |50,0009 x 7 = 350
4) AFEL0) ) 210-01 |20,0009 x 187]= 360
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AFS e B AEU 20189 (A) | 2017d(B)
5) 7has 230-02 |30,0009 x 10 = 300
6) FWAFREN) 210-01 |222,0009 % 5%= 1,110
ASEX] R 3,421,169 3,033,111
1,900,100 1,692,900
99 1,900,100 1,692,900
JESONRSE R KX 529,600 542,400
b 28 xSsta 620-03 |1,600,0009 x 2358 = 376,000
1B = i 620-03 |1,600,0009 x 258+F= 40,000
t}. A} =k 620-10 |1,600,0009 x 718}= 113,600
2. 435 ueg 2,500 2,500
7h - n g sk 2,500
1) ¢ln) 210-01 |4,0009 % 110%= 440
2) AAFLEN) 210-01 |38,0009 x 25%= 950
R IRATA T2 CIREI PATNEEY 210-06 |80,0009 x 2% = 160
4) 7FAH) 210-04 |2,0009¥ %100 = 200
5) ¥4yt 210-01 |50,000€9 x17)= 50
6) o] 220-01 |20,0009 x 7% x 52 = 700
WSt n g s dAd 1,000 1,000
F. A Elodn) 220—01 20,000€ x10% x54= 1,000
4. 2T EFTILLLY 1,367,000 1,147,000
) 1,230,000
1) 3HxEsn 620-03 |30,000,0009 x 4141 = 1,230,000
U AvbE s s 82,000
1) 3HxEsn 620-03 |2,000,0009 x 414 = 82,000
A = 55,000
1) 3HxSsn 620-03 |5,000,0009 % 114= 55,000
TESA AN 1,440,135 1,263,500
2L 1,440,135 1,263,500
ARSI TSAAANA 1,440,135 1,263,500
7h. S AR g H 414,000
1) A F sk Ak 414,000
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)

AF A= AEU 2018€(A) | 20174 (B) 7 (A-B)

7h obrE50 v vk 620—10 |6,000,000¢ X 77}¢l= 42,000
) Yolr50 o)Ak 620—10 |12,000,0009 x 3171 = 372,000
U, Bk akg o) 848,500
D) FHFA A A G ] 848,500
7 2l A E 620-03 |841,000,000¢ = 841,000
) -9 620-03 |7,500,0009= 7,500
ot AT 177,635
1) 3 (259%) 430-01 |63,785,0009 x 1th= 63,785
2) U3 (4695 430-01 |113,850,000¢ x 1th= 113,850

ASERS 80,934 76,711 4,223

Ax 9 80,934 76,711 4,223

L ASEX AR Y 80,634 76,211 4,423
7}, g E A ARl 7] 44,834
D 7189 110-04 12,409,3609 x 129 = 28,913
2) A5 110-04 |2,409,3609 x1594/304= 1,205
3) 2P RESY 110-04 20,1909 X 20A17kx 129 = 4,846
4) WAZ 7 110-04 |350,0009 x 1§ x 28] = 700
5) A7 LRI A 110-04 |140,0009 x 129 = 1,680
6) ZllFH 320-12 |2,409,36091 X 4.5%x 129= 1,302
7) ARG 320-05 12,409,360 x3.12% x 128 = 903
8) A A R & 320-05 |2,409,36091%0.9%x129= 261
9) &R FIGF 320—05 12,409,3609x1.5%%x128= 434
10) w7 kR Ee+ 320-12 |2,409,3609 x3.12% % 6.55% < 129 = 60
11) g§A882 320-12 [2,569,3609 x149= 2,570
12) A HFAn) 110-04 |130,0009 x 129 = 1,560
13) B2 20 240-02 |400,0009 x 1% = 400
v w8 A ALY 6,050
1) o] 220-01 |75,0009 x 27 x 28 = 4,200
2) WS7n 210-01 |350,000¢ x13]= 350
3) AFR-4-3En) 210—-01 |300,0009 x5%= 1,500
o AbE 2] G ] 8,250
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Y AR TR EA A (4] - 21 4)
=) A o 1=
poryy 3 ?};3 ﬂg NERE = = 20184 (A) | 20174 (®B) | Z7(A-B)

DR ey 210-06 50,0009 x 10 x 83]= 4,000
2) A AAE T 210-01 |105,0009 X 10%= 1,050
3) A [LNEEA ] 2,000
7P 71E 210-06 [160,0009 x 2% x 43]= 1,280
) ¥ 210-06 90,0009 x 27 x 43]= 720
4) 7v+3) 230-02 (20,0009 X124 x 58] = 1,200
2. 43w g 1:500
1) Q1] 210-01 |5,0009 x 120%-= 600
2) BALL-En) 210-01 |50,00091 X 10%= 500
3) 2H) 210-04 |8,0009l x50 = 400
ok S5AR vl 20,000
D) AotEs gz 9 4,200
7h Aopgtr| 2 A 4,200
(1) A R 27AH ] 310-01 |50,000¢1 X 2% x 41l x 83| = 3,200

(2) Q14m) 210-01 15,0009 x 120%-= 600
(3) AFLEN 210-01 |20,000¢] X 20% = 400

2) 7N FEEEIY 8,380
h EhE 8,380
(1) A= 27} 210-13 |140,00091 <457 = 6,300

(2) AAFLEn] 210-01 |100,000€ X 6E= 600

(3) A=A E 210-07 |600,000¢ x 1t x 291 = 1,200

(4) 7¥hs 230-02 (20,0009 x5%= 100

(5) 72N 310-01 |2,0009 <459 X 23]= 180

3) Ym bl 2 7 3,840
7h Arddgdstelrhe ot 1040
(1) AFAxa 210-07 |600,0009 x 1t = 600

(2) ALEFEn) 210-01 |60,0009 x 2F= 120

(3) 7H2In) 310-01 |2,0009 x40 x 23]= 160

(4) Au] 310-01 |8,000€lx 207 = 160

W 7EdEA e 2,800
(1) A2 @AM 210-06 |100,0009¢ x 27 x 128] = 2,400
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R R TSR (&) B9

?}2 ﬂf;r SIS %A= Ao 2018 (A) | 20179 ®B) | ZZ(A-B)

(2) AAFEER) 210-01 |100,000¢] X 4= 400

4) AGUE AAAZZ 13 3,580

7h Aadidteled A (N vsT ) 1,740

(1) A3 e9n) 210-13 |1,500,000¢ x13]= 1,500

(2) YALEH) 210-01 |40,0009 x2%= 80

(3) 2n) 210-04 |8,000¢ x 20 = 160

) AR B AR 1,840

(1) Ak (LA ] 1,000

ohH 7)1 210-06 160,000 x 19 x43]= 640

h =3 210-06 90,0009 x 19 x 43]= 360

(2) 7+211) 210-04 |2,0009 %307 x 43]= 240

(3) WAFEEn) 210-01 100,0009 x 6%= 600
2. G F) 300 500 2200

7}, BAFE-EH) 210-01 |30,0009 x 10%= 300
N/A %8S 2,421,252 691,191 1,730,061
nAAY 39,700 39,500 200
SR AR 12,060 12,580 AB520
1. Sa R AT 12,060 12,580 A520

7}, o3n] 220-01 |20,000€l x 2% x 30 = 1,200

584w 2 ] T A 9 6.000

1) 2Y=sy 620-03 |3,000,000¢ X 23= 6,000

o}, mhe A e A 9 9 3 900

1) 7++3] 230-02 20,0009l X107 x 23] = 400

2) ojn] 220-01 |20,0009 x 57 x 53] = 500

2t A Bs S 1A A3 1,660

1) 7241 210-04 |2,0009x140%= 280

2) Ak [AnbdAb ] 500

7hH 78 210-06 |160,00049 x 2= 320

W} x3} 210-06 90,0009 x 2% = 180

3) 3ALL-EH) 210-01 |10,0009 X 44 x 28] = 880

uh Shi Ry o] 800
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GRIE L)

AFA U < A= EU o 20184 (A) | 20179 (B) | T (A-B)

1) AL 210-01 |10,0009 X 20% x 48] = 800
vl RAAY| e 1,500
1) 2Hx58w 620—03 500,000¢ x 2= 1,000
2) TYZ=syw 620—03 500,000 x112= 500

37 9 AT 27,640 26,920 720

1. sw s Az 27,640 26,920 720
7F dE=E74g 1,400
1) xﬂ¢ T 210-01 | 2,000€ x 3507 x 23] = 1,400
R ETRS EART E 14,500
1) oqﬂ] 220—01 20,0009 x 29 x50 = 2,000
2) A& 210—11 100,000€ X 155 x 23] = 3,000
3) A A8 5] 210—09 1,000,000 % 13]= 1,000
4) ZA A8 430—01 3,000,000 x 2t]= 6,000
5) &S T I 7| AALYAAGFESE | 620-03 250,0009 X 103] = 2,500
o} St E7 91489 s el e 2,720
1) oJn] 220-01 20,0009 x 27 x50 = 2,000
2) Eluﬂﬂﬂ] 210—05 8,0008 x5 x 18 = 720
2}, st k7 9148 4 891 9 8] &9 7,920
1) @@44—% 210—06 70,000€ X109 x103] = 7,000
2) 7+k3] 230—02 20,000€ x 23 x 23] = 920
I SETA R el e Ll 1,100
1) o3n) 220-01 20,0009 x 19 x55%= 1,100

2,130,432 412,446 1,717,986

)| 49,288 48,796 492

1. gt FA #g 37,612 38,112 A500
7b. At g] A ¢ 6,400
1) ¥Hx58w 620—03 20,0009 X 803] x4 = 6,400
. 54948 26,262
1) 7+ 230—02 20,0009 x15% x 33| = 900
2) odn) 220—01 20,0009 x 29 x100Y = 4,000
3) oJALEn) 210—01 136,2009 X 10%= 1,362
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SERE

I

—Al = AU

2018 (A) | 20179 (B)

7ZH(A-B)

4) HACCPZ]F++-¢1n] =]

3) AT
2. St g AA AT
7F 1A w&
1) A [IRPAH
7h 7]+
W) x3}
2) k2]
3) 2]
4) AE-FE|
v dF3Ag A

1) 724
2) o)
3) IHs
4) A7)
7h sHxsTw

—| Mo
*of
of
R

of 1>
ot Ho
Y=
— ofn 3k
1% off
B Mo

N
— T"‘El_]
o
jus}

2 o

ks
ol 2
ofl 1>

N

620-03 |2,000,000¥ X 61=
620-03 12,000,000 x 4=

230-02 |15,0009 X107 x33]=
220-01 |20,0009 x 27 X501L=
210-06 |50,00090 X107 x51=

210-06 |160,000€1x 1=
210—06 |90,0009¥ X 17 X 2A] 7=
210-04 12,0009 x200™ x23]=
210—04 18,0009 x50 x 24 =
210-01 |38,2009 X 20%=

210—04 |2,0009 xX78% x 23] =
220—01 |75,000¢ x 2% x5 =
230—-02 |20,0009 x 429 =

620-03 |65,0009 X608 =
620-03 |65,0009 %184 =

992

620-03 |40,0009 x50 =

620-03 |1,500,0009¥ x 1tf=

620-03 |5,000,000¢ x 170 ¢=

1,717,494
362,722
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(9] - )
A NERE 5= A 20184W(A) | 20179(B) | F7(A-B)
A]’Ot] =] = ] I E T g [Pl =
B 1] 620-03 |22,919,0009 x 123.= 275,028
o} ¥y Few 620-03 |41,347,0009 x 21.= 82,694
2. A FNEnF2 7] FH A Y 477,262 230,020 247,242
b EANF LT 7)) 477,262
1) ¥Yx53tw 620-03 |477,262,0009 X 13.= 477,262
3. St FA A A AA 142,101 132,130 9,971
7h 25 A4 620-03 12,981,000 x 17§ €= 2,981
U 3 x5sty 620-03 |13,842,0009 X 103.= 138,420
t} 2=y 620-03 |350,0009 x 2iL= 700
4, FAANZAY3AY 1,097,559 0 1,097,559
7F. 2w 1,097,559
1) FAxEsT 309,646
7h A 420-01 |81,730,0009 X 10%= 8,173
) A)Adn] 420-03 |1,992,2409 x125m'= 249,030
o 247154 620-03 |52,443,0009 X 131L= 52,443
2) A8 787,913
7h A An] 420-01 175,230,000 X 10%= 17,523
) A|Adn] 420-03 |1,557,2109 X 400m'= 622,884
th A7) 78] 620-03 |147,506,0009 x 13.= 147,506
3 &F 251,120 239,245 11,875
AL =Y 251,120 239,245 11,875
1. AZSYAS U 8 & 11,500 9,500 2,000
7 AT d A S 3 & 11,500
1) TAgZF9n] 210-01 |100,00091 X 10% % 23] = 2,000
2) AY+ 230-02 |30,0009 x50 = 1,500
3) SuFFEETUA 6,000
hH BExSey 620-03 |1,000,0009 x 3L 3,000
W FEEsw 620—-03 |1,000,000¢] X 23L= 2,000
h AFg sy 620—10 |1,000,0009 X 13L= 1,000
4) 7+5+3) 230-02 |20,0004 X 1007 = 2,000
2. TS 3L 84,850 81,400 3,450
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719 AR ER NS XA (cFe] : 19
7 =]
Bopnn f};; f‘—};; ﬂgj Apeluel CR S Ay o 201849 (A) | 20179(B) | Z7H(A-B)
7h. 7 E S A Sl B 40,550
D FdEEF74] 210-01 |70,0009 X 100%= 7,000
2) 21H] 210—04 18,0009 X509 x 104 = 4,000
3) Zuhn 210-04 |40,0009 X 25% x4 = 4,000
4) AeE 230-02 |100,0009 x 22§ = 2,200
5) 7-218] 210-04 2,000€9 x50 x 73] = 700
6) Ed74H A4 15,550
7hH 2H x5 w 620-03 |600,0009 X 133= 7,800
W) 2y Esa 620-03 |1,125,000€ X 61L= 6,750
o) A Ze 620-10 |500,000€ x 23L= 1,000
7) &AL H A Y 6,100
7hH 2E x5 620-03 |200,0009 X 153= 3,000
W) 2gEdy 620-03 |333,300€ X 61L= 2,000
h AEEe 620-10 |550,000¢ x 23= 1,100
8) 1++3] 230-02 20,0009 x50 = 1,000
U AR 293 A S8 ¢ 32,300
1) £H8Z 39| 210-01 |40,0009 x100F= 4,000
2) AH & 230-02 |100,0009 x 208 = 2,000
3) 2] 210-04 |8,000€ x 207 x 5024 = 8,000
4) < 210-04 40,0009 %207 x 2= 1,600
5) 7k218] 210-04 12,0009 x20% x653]= 2,600
6) =d7duA <A 8,500
7hH 2E x5 w 620-03 |450,0009 X 103L= 4,500
W) ZgEda 620-03 |416,600¢ x61L= 2,500
th A Zew 620-10 |500,000¢ x 31= 1,500
7) Qe mAto A 9 4,600
7hH 2Ex5dw 620-03 |200,0009 X 103L= 2,000
W) 2y Esa 620-03 |250,000€ X 61L= 1,500
o) A Ze 620-10 |550,0009 x 23= 1,100
8) 7+et3) 230-02 20,0009 x50 = 1,000
e R R e R e R A 12,000
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7138 - AR EAA w S A A (+9] : A9)
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
1) 2n] 210-04 |8,0009 X 257 x 202 = 4,000
2) 7F21n] 210-04 |2,0009 X 407 x 203 = 1,600
3) EHLEZ N 210-01 |40,0009 X 80F= 3,200
4) Zukn 210-04 40,0009 X407 x 29 = 3,200
3. 8 ATXEYHLY 1,000 1,000 0
7). WAFE-EN) 210-01 |50,0009 X 20%= 1,000
4. A9EAA SN 52 % 25,850 25,850 0
7h W75 71 el 3 - 18,850
1) YAFLEn] 210-01 [10,0009 % 1,100%= 11,000
2) AFEroln| 210-01 |20,0009 x 1207 = 2,400
3) olAn 210-01 |5,0009 X 250%= 1,250
4) &4=ut 210-01 |100,000€ x 157]= 1,500
5) owrrtq;u] 210—-01 |5,0009 X 40%= 200
6) AAFS 210—-06 |50,000€ x50 = 2,500
U oS L7l£?£ﬂﬂ%° 7,000
1) AFLEn) 210—-01 |100,000¢ X 40%= 4,000
2) AFE el 210-01 |20,000€ x 1007} = 2,000
3) A5t 210-01 |100,000€ x107]= 1,000
5. ZEAS Y3 L9 127,920 121,495 6,425
7}, g%geﬂ H] 35,500
1) TEgZ 1) 210-01 |100,000€ X 60%= 6,000
2) 2] 210-04 |8,0009 X507 x 552] 22,000
3) 7H4H) 210-04 |2,0009 x50 x 753 = 7,500
L QlE Ao H A Y 10,120
1) 28 x50 620-03 |560,0009 x 153 = 8,400
2) FElEEw 620-03 |560,0009 x 23= 1,120
3) A st 620—10 300,000€ X 23= 600
o}, 7123 230-02 20,0009 x40 = 800
2}, oo A S 8] 2y 2 230-02 100,000€ x 208 = 2,000
vh, Sl s A S o 3] 8,500
1) PAFLEn] 210—-01 |50,0004€l X 130%= 6,500
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GO )

s A %A% W 20184W(A) | 20179(®) | S2(A-B)
2) AH] 210-04 |8,0009 %1007 = 800
3) AFZeln| 210—01 30,0004 X 407]= 1,200
. o) 220—01 75,0009 x4 x 70 = 21,000
A} EkAE ) 40,000
1) 211 210—04 18,0009 X100 x 304 = 24,000
2) 7+ 210—04 12,0009 X100 x353]= 7,000
3) Zuhn 210—04 40,0009 X109 x10Y= 4,000
4) THELEZ1en] 210-01 |100,0009 X50%= 5,000
o, S-FAFTAN A Y 10,000
1) ¥Hx5w 620-03 |1,000,0009 x61.= 6,000
2) At st 620—10 1,000,000 x43= 4,000
41,005,453 40,507,991 497,462
G 21,058,301 20,804,532 253,769
g RE) PO O] 21,058,301 20,804,532 253,769
1. st 7| E8-491| 20,564,981 19,993,912 571,069
7}, 71 B8] 20,564,981
1) x4 620—-02 |1,359,982,000¢ = 1,359,982
2) %58 620-02 |15,101,675,000¢ = 15,101,675
3) Z&w 620—-02 |4,103,324,000¢ = 4,103,324
2. 71EF-9u| X ¢ 493,320 810,620 A317,300
7} w38 ) w A A 100,000
1) ¥Hx5sw 620-03 |5,000,000¥ X 16i= 80,000
2) 3HTsw 620-03 |5,000,0009 X 431= 20,000
. AT EHEA Y 163,320
1) Gz guyEF 620-03 |15,000,0009 x 18F= 15,000
2) 3PS 620-03 |9,270,0009 x 163t = 148,320
1= BTSN M R B 230,000
1) ¥Hx5w 620-03 |10,000,000¢ X 181.= 180,000
2) THZst 620—03 |10,000,0009 X 51.= 50,000
ALEHA A =] Y 19,947,152 19,703,459 243,693
\ogzﬂu] AR AL 17,343,934 17,152,297 191,637
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R R b B ST R e (gFo] ;29

P IO o Argiipel 2 A= ESE 20184 (A) | 20179 (B) | Z7(A-B)

1. A S JAANAZATRE 17,343,934 17,152,297 191,637

7} A=k 620-08 |17,343,934,0009 = 17,343,934
TG A AR A 2,603,218 2,551,162 52,056
LA ST EGu A AR T 2,603,218 2,551,162 52,056

7V AR S s 620-09 [2,603,218,0009= 2,603,218
St S ANAAAL 46,957,939 25,461,722 21,496,217
SHA x| Al A 23,970,988 13,786,010 10,184,978
StwAlFA 23,970,988 13,786,010 10,184,978
1. IARAS 21,619,992 13,786,010 7,733,982

b AG xS (o] A) 13,245,384

1) Al 13,235,400

7h A= FAR 420-03 183,720,0009 x107.54= 8,999,900

) 71 A1 8] AR 420—-03 |18,470,000¢ x107.54 = 1,985,525

th A7) ZAM) 420-03 120,930,0009 x107.52 = 2,249,975

9) ZFERU= 420-05 |9,984,0009 x 124 = 9,984

. O dEEea 8,274,608

1) Aldn] 8,176,490

7hH AZ=ZAM) 420-03 |84,486,2129 X662 = 5,576,090

) 7)1 A8 ZAM) 420-03 |18,470,000¢ X 662 = 1,219,020

th A7) FAH] 420-03 120,930,000¢ X 662 = 1,381,380

2) 7rejy] 98,118

7hH A=7rEm) 420-04 14,905,894,0009 X 1.29%= 58,871

) #7178 n) 420-04 |2,044,123,0009x1.2%= 24,530

o) Awen) 420-04 |4,390,0009 x3.371 9= 14,717
2. A8 g RA 53,198 0 53,198

7h xS (o] d) 53,198

1) BEAmeln] 410-01 |1,340,0009 X 39.7m'= 53,198
3. AAFE 2,397,798 0 2,397,798

7} A xS ek 1,901,793

1) AlAdH] 1,867,374

7hH 1SS 1,493,280
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(9] - )

AU o S-A= ArEue 20189 (A) | 2017 (B) 7 (A-B)

(1) AZ=ZAM] 420—03 84,620,0009 x 124 = 1,015,440
(2) 71A1Ad 8] ZAM] 420-03 18,670,0009 x 124 = 224,040
(3) A7]5AH] 420-03 21,150,0009 x 124 = 253,800
W A== 420-03 |2,150,0009 X 80m'= 172,000
th Al A Aol 4 =] 420-03 |4,820,0009 X 6.5KW= 31,330
2 A5 3 e A A 420-03 3,660,0009 x 43| 2= 14,640
v A7) A EHgEA 420-03 |289,00091 X 100m= 28,900
Hh) A 420—03 116,0009 X504 m'= 58,464
AP A7) 4 420—03 4,470,000 x84 = 35,760
op) el Ak 420—03 65,0009 x200m'= 13,000
A WAFEE AN 420—03 20,000,0009 x 14 = 20,000
2) z+aln) 34,419
7H =7re)n) 420—04 |1,880,374,0009 x1.13%= 21,249
) 2urzhan) 420-04 4,390,000 x 3704 = 13,170
. A xS et 496,005
1) AlAdn] 472,120
7hH nAZE= 373,320
(1) AZZAM] 420—03 84,620,000¢ x 34 = 253,860
(2) 71A12d 8] Z-AH] 420-03 18,670,0009 x 34 = 56,010
(3) A7) FAM] 420—-03 21,150,0009 x 34 = 63,450
W A== 420-03 |2,150,0009 X 30m'= 64,500
o} WAHEZH A H) 420—-03 10,000,0009 x 14 = 10,000
o) WX e 420—03 90,0009 X 270m'= 24,300
2) A Am| 23,885
7H) ASU A7 AN 420-02 [472,120,0009 X 4.0%= 18,885
W) W21 E 420-02 |5,000,0009 X 14= 5,000

5,224,607 203,696

ANEAFAN= 5,224,607 203,696

1. GE2ARIRS 3,601,510 3,601,510
7} Zgely 3,601,510
1) AEASF 50 2,542,735
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A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)
7} A A
(1) A=A AMm) 420-02 |1,716,824,2009 X 3.675%=
(2) 71A1An) A AN 420—-02 [367,890,900¢ X 3.674%=
(3) A7) 2A 8] 420-02 |367,890,90091 X 3.674%=
) AlAdH]
(1) A=ZAM) 420—03 |513,4209 x3,343m'=
(2) 71 A1 8] FAH] 420-03 |513,4199X717m'=
(3) A7]FAH 420-03 |513,4189 %X 717m'=
2) AEAAIS s
7hH B]7FE A A HS 420-03 19,810,000 x 44 =
) AEAA 420-03 (229,000 X 768m'=
3) AEVNATEILETE L
71 A
(1) A=AAM) 420—02 |568,785,7009 X 2.87%=
(2) 71A1A 8] A AN 420-02 [121,882,6509 X6.07%=
(3) A7 An 420-02 [121,882,6509 X6.06%=
L) Al
(1) AZ=ZAM) 420-03 [1,089,2109 x522m'=
(2) 71A1A8]ZAM 420-03 [1,089,2109 x112m'=
(3) A7) FAM) 420-03 [1,089,2109 x112m'=
2. 3&AY A 207,931
4 = el
D BE7IAwH15Sw
71 AlAdH]
(1) A=ZAM) 420-03 |710,5819%1,347m'=
(2) 71 A1 8] Z-AMH] 420—-03 |710,5819x288m'=
(3) A7) ZAM] 420—03 [710,5819x288m'=
2) AEAFFTILSSL
7H LEDZ ™ A4 420—03 [4,080,0009 x 324 =
3. 7N AEF=H 86,000

7h 3
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GRIE L)

A S A5 ArEU S 2018 (A) | 20179 (B) | 4 (A-B)

D) $32%8t 86,000
h #EAFE 86,000
(1) AAm] 4,300
hH A=A AN 420-02 |43,700,0009 X 4.48%= 1,958
(b 71 A28 As] 420-02 [30,400,0009 X 4.48%= 1,362
(th A7) AH) 420-02 |6,460,0009 x15.17%= 980
(2) AlAdn) 81,700
7)) AZFA) 420-03 1,180,0004¢ x 38m'= 44,840
(W) 7)1 A1 8] ZAM] 420-03 |800,000¢ x 38m'= 30,400
(th A7) A 420-03 |170,000¢ x 38m'= 6,460

4, FHE2FNE 40,088 1,753,957 21,713,869
7} 33w 40,088
1) dsx5sw 40,088
71 A A8 40,088
(1) A=AAM) 420-02 |608,500,0009 X 4.61%= 28,052
(2) A7128 A1 420-02 |130,500,0009 X 4.61%= 6,017
(3) 1A AM 420-02 |130,550,0009 X 4.61%= 6,019

17,762,344 6,654,801 11,107,543

S AMNA 17,762,344 6,654,801 11,107,543

1. 71ebst L & /| A A A 324,980 530,998 206,018
7}, Ze sk 256,520
1) thexsgtw 51,700
7H) = A A ) A 420-03 |1,000,000¢ X 26.4m'= 26,400
) 29 AR S 420-03 |1,000,0009 X 25.3m'= 25,300
2) AJE2sy 120,400
7H AR A S B S 420-03 [2,150,0009 X56m'= 120,400
3) sttt 84,420
7H B S A NA 620-04 7,980,000 x 34 = 23,940
Lh Az A 620—-04 |1,890,000¢ x 324 = 60,480
U Ay 68,460
1) AAtodzpZ=8kw 68,460

43/61




GO )

AF A= AEU 2018€(A) | 20174 (B) 7 (A-B)

7hH oE-A G 7 Al =) A A 620-11 |68,460,0009 X 11L= 68,460
2. IAIEA 62,240 295,960 A233,720
7}, FYen 12,440

D 84T 12,440

7hH 2R =M 420-03 [622,0009 x 204 = 12,440
U AF sk 49,800

D) F85stm 49,800

7hH YR 620—11 1,660,0009 x 304 = 49,800
3. TAMS 353,160 193,475 159,685
7}, FE sty 353,160

1) AAZskw 420-03 |9,810,000¢ x 42 = 39,240

2) FAakxSsku 420-03 |9,810,0009 x 24 = 19,620

3) xSk 420—-03 9,810,0009 X104 = 98,100

4) AGxSsky 420-03 9,810,000 x 24 = 19,620

5) A E =8ty 420—03 9,810,0009 x 184 = 176,580
4, wABFEA A 655,290 0 655,290
7} FYen 655,290

1) ArxS5ey 318,000

7H &AM 420—-03 6,320,0009 X 304 = 189,600

) A7)FAM] 420—03 4,280,0009 X 304 = 128,400

2) FeEtxSdky 131,280

7H A ZEZA] 420-03 |12,130,0009 x 84 = 97,040

) A7) ZA] 420—03 4,280,000 x84 = 34,240

3) FAatxsg 49,230

7H) 71AZ=ZA ] 420-03 |12,130,0009 x 34 = 36,390

) A7) FA] 420-03 |4,280,0009 x 34 = 12,840

4) B d xS 91,140

7H =ZA] 420—03 10,910,0009 x 64 = 65,460

) 7] ZA] 420—03 4,280,000 X 64 = 25,680

5) €A4FTw 65,640

7H = ZA ] 420—03 12,130,0009 x 42 = 48,520
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GRIE L)

A S == A5 AHEU S 2018 (A) | 20179 (B) | TH(A-B)

) A7) A 420-03 |4,280,0009 x 44 = 17,120
5. A7 A2 NA 624,240 530,400 93,840
7}, 3He 624,240

1) Alsxss 191,760

7}) LEDZ" A4 420-03 [4,080,0009 x 474 = 191,760

2) AR 5s 273,360

7H LEDZH A A 420-03 |4,080,0009 X672 = 273,360

3) GAAxSstw 36,720

7}) LEDZ" A4 420-03 [4,080,0009 x 94 = 36,720

4) x50 24,480

7} LEDZ" A1 420-03 [4,080,0009 X624 = 24,480

5 HEexsdu 28,560

7} LEDZ" A1 A 420-03 |4,080,0009 x 72 = 28,560

6) Abs1ls e 69,360

7hH LEDZ" A4 420-03 [4,080,0009 %174 = 69,360
6. NAZAENA 1,402,730 189,840 1,212,890
7t 3 e 1,174,700

1) Atz 420-03 16,910,000 x 1224 = 82,920

2) Arrzx58tw 420-03 [6,910,0009 x 194 = 131,290

3) sttxSdhn 420-03 6,910,000 x 224 = 152,020

4) JF x5 420-03 16,910,0009 X614 = 421,510

5) Atz 420-03 [6,910,0009 X564 = 386,960
. Al sty 228,030

1) AAroAz=e 620-11 |6,910,000¢ x 334 = 228,030
7. YA A ANA 1,334,610 873,836 460,774
7} 2 1,334,610

1) AAFE-=S58kw 38,490

7H A7) ZA] 420-03 1,560,000 x 42 = 6,240

wh) 71 A1 8] ZAM] 420-03 4,450,000 x 42 = 17,800

h A7) 7k e 420-03 289,0009 X 50m= 14,450

2) AXx =8y 508,550
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714 AR EAA NS AL (9] A9
Z o A=)
wopvy S0 | 2R | AT Aripel %A% AU 20184 () | 20179 (B) | S7(A-B)

7H A7) FA] 420-03 |1,560,0009 X754 = 117,000
) 71 A1 8] A 420—03 4,450,0009 X754 = 333,750
h A7 7P gk 420-03 289,0009 X 200m= 57,800
3) gdlxTsn 190,020
7H A7) FA] 420-03 |1,560,0009 x 224 = 34,320
) 7)1 A8 ZAM) 420-03 4,450,00049 x 224 = 97,900
th A7) 7P g 420-03 289,000 X 200m= 57,800
4) AHg =8k 597,550
7h A7) FAM) 420-03 1,560,0009 x 854 = 132,600
) 7)1 A8 ZAM) 420-03 4,450,0009 x 854 = 378,250
h A7)1zh g 420-03 289,000¢ X 300m= 86,700

8. FAA X 146,800 0 146,800
7}, 3t 146,800
1) FEx538tw 420-03 |367,0009 X 150m= 55,050
2) NAFZEE T 420-03 367,000¢ X 250m= 91,750

9. W24 X 89,400 78,750 10,650
7} e 89,400
1) ddx5sw 420-03 [298,000¢ X 300m= 89,400

10. ¥ AA 330,480 648,000 A317,520
7}, Y 330,480
1) Aitsdxssuw 420-03 12,240,000 x 274 = 330,480

11. $HFTE4X 416,575 0 416,575
7} ZYsn 416,575
1) AEAFZ 58w 620—04 877,0009 X 475m= 416,575

12. %—‘%7}1%}] 2,782,500 1,190,000 1,592,500
7}, 29 ek 2,327,500
1) *S}OOZE%?E}E_ 420-03 17,500,0009 x 494 = 857,500
2) Arstzx5sw 420-03 17,500,0009 x 214 = 367,500
3) gEx5sy 420-03 |17,500,0009 X 634 = 1,102,500
L Abg ek 455,000
1) AEFskw 620—11 17,500,000¢ x 264 = 455,000
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(] A 9)

A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

13. AZNA 1,014,600 602,370 412,230
7h et 1,014,600

1) Az 420-03 18,900,000 x 672 = 596,300

2) ArrxSstw 420-03 |8,900,0004 x 304 = 267,000

3) YAAxSstw 420-03 |8,900,000¢ x 9241 = 80,100

4) g9 x5t 420-03 |8,900,000¢ X 64 = 53,400

5) AlsEsta 420-03 [8,900,0009 x 24 = 17,800
14. ARAA 88,880 0 88,880
7} Y 88,880

1) 3peFxSstu 620-04 |2,020,0009 X442 = 88,880
5. FR A AN R} 6,057,084 0 6,057,084
7} Fgstu 5,945,084

1) A H x50 1,219,228

7hH E#F UL 5E ) 420-02 |70,000,0009 X 1%= 70,000

W) S suixegg 420-03 |1,149,228,0009 x 1 5= 1,149,228

2) Alsx25stw 956,190

7hH A SUYRA =H 7} 420-02 66,000,0009 x 1%= 66,000

) s w1} 420-03 [890,190,000¢ x 1 %= 890,190

3) Atz 1,159,936

7 AR A 5 ) 420-02 70,000,0009 X 1= 70,000

) WA IR 420-03 |1,089,936,0009 x 1= 1,089,936

4) JF x5 340,930

7hH AN S5 ) 420-02 46,000,000 X 1%= 46,000

W) TAZ ARG 420—03 294,930,000 X 1 %= 294,930

5) sl xS5stw 66,000

7 AR R SH 7} 420-02 66,000,0009 X 1 %= 66,000

6) vtz 693,480

7H ZAFEWRA 5H 7} 420-02 |66,000,000¢ X 1%= 66,000

) WA R E 7 420-03 |627,480,0009 x 1 5= 627,480

7) BAs e 66,000

7hH EdE A EH 7} 420—-02 [66,000,0009 X 1%= 66,000
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719 AAREANTEA DA CORE L)
= A=)
wopvy S0 | 2R | AT Aripel %A% AU 20184 () | 20179 (B) | S7(A-B)

8) AT 814,800
7h 2AFE WA 5 7 420-02 |66,000,0009 x 1%= 66,000
) WA IR 420-03 |748,800,0009 x 1 %= 748,800
9) A s 66,000
7hH EREURIASF 7} 420-02 66,000,0009 X 1%= 66,000
10) A8A 5158w 562,520
7H Z1EAMN R A 53 7 420-02 56,000,0009 X 1%E= 56,000
W) 7S Ah R B 7t 420-03 |506,520,0009 X 15= 506,520
L} Abg ek 112,000
1) alekolzp=srw 66,000
7H IAFENRAA FH 7} 620—11 [66,000,000€9 x1%= 66,000
2) E5stw 46,000
7hH EdE= A FH 7} 620—11 [46,000,000¢9 x1%= 46,000

16. A A 1,365,180 226,731 1,138,449
7}, Egsw 1,365,180
1) A9 x5ty 755,325
71 A AH] 26,110
(1) A=4AMn] 420-02 |395,630,000¢ X 3.07%= 12,146
(2) 71A12d 8] Am) 420—02 306,935,000¢ X3.07%= 9,423
(3) A7) 2 A 8] 420-02 |73,117,0009 X6.21%= 4,541
) AlAdn 729,215
(1) AZ=ZAM) 420-03 1893,0009 X391 m'= 349,163
(2) 71A1A 8] ZAM 420-03 785,0009 X391 m'= 306,935
(3) A7) ZAM) 420-03 187,0009 X391 m'= 73,117
2) AdzxEdw 246,179
71 A 13,054
(1) A=A AN 420-02 | 154,880,0009 X 4.21%= 6,521
(2) 71AAdn) A AN 420-02 98,125,000 X 4.21%= 4,132
(3) A7) AN 420-02 23,375,0009 X 10.27%= 2,401
) Al 233,125
(1) AZ=ZAM] 420-03 |893,000¢ X 125m'= 111,625
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7187 AR EAN TS A% CORE L)
B 9 RE i}
HoHB o o~ gt T A [e] XH_ = A= 1= 5! =7r —
T oR - el el el Fd o2 — ]| dEU g 2018 (A) | 20174 (B) =7 (A—B)
(2) 71 A1’ 8] Z-AH] 420-03 |785,0009 xX125m'= 98,125
(3) A7]%AH] 420-03 [187,0009 X 125m'= 23,375
3) x5St 363,676
7h A A 16,786
(1) A=AAM) 420-02 [176,740,0009 X 4.21%= 7,441
(2) 71A12d 8] Am) 420-02 [146,010,0009 X 4.21%= 6,148
(3) A7) A 8] 420-02 |34,782,0009 x9.19%= 3,197
) Al 346,890
(1) A=A 420-03 893,000 X 186m'= 166,098
(2) 71 A2 8] ZAMH] 420-03 |785,0009 X 186m'= 146,010
(3) A7) A 420-03 187,000 X 186m'= 34,782
17. ZAN=E 67,440 37,800 29,640
7F sty 60,640
1) dexSey 1,800
7hH FAA2AYUAA 420-01 |1,800,0009 X 1%5= 1,800
2) ArxS8y 13,000
71 wAsEE 8 420-01 |13,000,0009 X 1= 13,000
3) YgExsstw 6,800
7H AR DA A 420-01 [5,000,0009 X 1%= 5,000
W) 244104 A 420-01 |1,800,0009 X 15= 1,800
4) stF2S YT 0300
7H) AR A A 420-01 [3,500,0009 X 1 5= 3,500
W) a0 AA 420-01 |1,800,0009 X 1 5= 1,800
5) sH25 5 8,000
7H AR A A 420-01 [8,000,0009 X 1 5= 8,000
6) S=r25 St o88
7H ASBEL=TZAAAA 420-01 |988,0009x1%= 988
7) AE xS0 988
7H ASHBES T ZAH A 420-01 |988,0009x1%= 988
8) AAtT =8y 988
7H ASBESFZAAAA 420-01 |988,0009x1%= 988
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GO )

A S == A5 AU S 2018 (A) | 20179 (B) | TH(A-B)

9) AHEAS158 11,000
7hH ASTAR A A 420-01 |11,000,0009 x 1= 11,000
10) AH7A=<4aLs st 988
7H ASBESLFZAAAA 420-01 |988,0009 x1%= 988
11) AAtz sty 5stw 988
7H ASBES=FZAAA 420-01 |988,000¥ x1%= 988
12) A=A 5w 9,800
7H 1wEdddA 420-01 [8,000,0009 X 15= 8,000
) 715249494 420-01 |1,800,0009 X 1%= 1,800
U A sty 6,800
1) st 1,800
7hH B-EAd24E A7 620—10 |1,800,0009 X 15= 1,800
2) AQlofasgta 5,000
7hH EdeAddAA 620—10 |5,000,0009 X 1%5= 5,000

18. & A& &g 14,611 0 14,611
7F sty 14,611
1) Az 9,097
71 A GAE B 620-03 9,097,000 X 14t = 9,097
2) thrx58 5,514
7hH A AAFE R S 620—03 |2,757,0009 X 24|t = 5,514

19. X EMNA 35,590 34,900 690
7F sty 35,590
1) ¥ax5sty 420-03 [35,590,0009 X 17| = 35,590

20. ARFAAAMNA 120,000 161,098 £~41,098
7} 2 120,000
1) AN x5 w 40,000
7H A ZHFE=A] 420-03 140,000,000¢ x 14 = 40,000
2) A AZs 40,000
7H A ZHFE=A] 420-03 140,000,000¢ x 14 = 40,000
3) A 40,000
7H A ZHFE=A] 420-03 140,000,000¢ x 14 = 40,000
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(] A 9)

A S == A5 AU S 2018 (A) | 20179 (B) | TH(A-B)

21. AZAA 84,300 256,709 A172,409
7 & 84,300
1) stdxsgusgd T 84,300
7H A ZAA 420-03 |229,000¢ x 300m'= 68,700
W) A AA 420-03 |52,0009 X 300m'= 15,600

22. AJY=ZELA 287,074 353,024 265,950
7} & 287,074
1) 9Fxsea 420-03 65,0009 X930m'= 60,450
2) 3 xSt 420-03 |113,0009 X 753m'= 85,089
3) dsx5skwy 420-03 65,0009 x439m'= 28,535
4) P x5 420-03 113,000 % 1,000m'= 113,000

23. AAENA 104,580 162,680 258,100
7F sty 104,580
1) Alsx58w 420-03 5,810,0009 x 187} 4= 104,580

19,390 19,310 80

19,390 19,310 80

5874 314 19,390 19,310 80

A LL-GA 4 8,390 8,270 120

1. B THLIA L 1,500 1,500 0
7h BASEFZE IH-Gu A 1,000
1) 3HxeT 620-03 |1,000,0009 x 1 1= 1,000
. FASE T A Y 9 51| 230-02 |500,0009 %138 = 500

2. LV HFAA =R 6,890 6,770 120
AR RSE S R R R 210-06 70,0009 x 7%= 490
. HEE 230-02 |20,0009 x 107 x 23] = 400
t}. o) 220—01 20,0009 X 378 x 8481 = 5,040
g} 5 An] 210-05 |8,000¢ x 29 x 604 = 960

HAsrHFTIAd 11,000 11,040 A40

1. BAgF=AA L 11,000 11,040 240
7} SR A" BE =] 2 e 210-13 |5,000,0009 x 13| = 5,000
U, AR [ B2 A ] 210-06 |50,0009l x 41 X 5|3k x 23] = 2,000
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AFS e B AEU 20189 (A) | 2017d(B)

. A A 5 210-11 |10,0009 % 15074= 1,500
2}, 7hek 3 230-02 |25,0009 x 107 x 28] = 500
o}, SAFE-F ) 210-01 (10,0009 X 180%= 1,800
u. 211) 310-01 |8,0009l x5 x 52 = 200

7 939,000 1,110,719

322,698 275,008

29,530 17,510

HEEE 24,310 12,290

1. 299523 24,310 12,290
7b. ZAAbg s A 13,560
1) BAFLER 210-01 20,0009 X 10%= 200
2) 2] 210-04 |8,0009 X 70 = 560
3) edaZa A= 210-01 10,0004 X 600%-= 6,000
4) BA G 210-06 |50,0009 X 157 x 28] = 1,500
5) 7Fer3] 230-02 20,0009 X 207 x 23] = 800
6) HETS 21006 |50,0009 % 15 x 63| = 4,500
TR 4,550
1) }AFL-Fn) 210-01 40,0009 x5 x 53] = 1,000
2) 2] 210-04 |8,0004€ x 207 x 524 = 800
3) Qlzn) 210-01 10,0004 X 200%= 2,000
4) AR 210-06 (50,0009 %153 = 750
th YA FA 6,200
1) 3AFEZH) 210-01 |20,0009 X50& X 23]= 2,000
2) 7++3) 230—02 20,0009 x80% x 23] = 3,200
3) Q1) 210-01 10,0009 X 100%= 1,000

REEATE: RS Eie 5,220 5,220 0
1. 58RI 5,220 5,220 0

7h SRy 3,000
1) 7+e3] 230-02 |15,00091 X207 x 103]= 3,000
LA R R R R el 2,220
1) FA2=r 210-06 |70,00091 X 7' x 23] = 980
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B AA TS LA (5h9] - H )

o A=)
?};3 ﬂg Al el 2= RENE 20189 (A) | 20179 (®B) | Z7HA-B)

2) 7+3 230-02 30,0009 X 19 x 23] = 1,140

3) A 210-01 |50,0009 x27]= 100
A R 49,240 18,420 30,820
AE5FHFH 49,240 18,420 30,820
1. 3278 ZREEX Y 49,240 18,420 30,820

7h WA A Z R 210-01 |6,000,0009¢ x 1% = 6,000

B R A=l Sy = 210-01 [330,0009x12¢¥x53]= 19,800

o}, 7+-3 230-02 30,0009 X 357 x 23] = 2,100

2}, ALLEN) 210-01 |20,0009 x5F= 100

o}, TR 22 210-01 |17,000,000€ x 17}= 17,000

v, SRARHY S A3 4,240

1) AA}E=gr 210-06 |50,0009 %107 x 73] = 3,500

2) 7+ 210-04 |2,00091 X107 x 73] = 140

3) 713 230-02 |30,0009 %107 x 23] = 600
ZFA ) 1,125 1,050 75
ZFA g 1,125 1,050 75
1. A A 9 1,125 1,050 75

7}, ZHAEE 1) 250-04 |5,00091 x3% x 759 = 1,125
ASFA A 4,640 4,430 210
AR NAGER L 4,640 4,430 210
1. A7 F KLY A2 3,440 3,280 210

VAT A v el B B RS R 3,440

1) 2 zrs 210—-07 |600,00091 x 2t = 1,200

2) 21n] 210-04 |8,0009 X 707 x 34 = 1,680

3) SYAFEEn) 210-01 |8,00091 X 70%= 560
2. S&Eola e 1,200 1,200 0

7} st Eotg 29X ¥ 240-01 600,0009 x 2€ = 1,200
S PAA B3} 24,240 31,740 AT7,500
ZESYAABA 2SS 24,240 31,740 A7,500
1. 284 R EaFA 4 4,000 4,000 0

7}, o] 220-01 |20,0009 x 27 x 1009 = 4,000
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CA)

A S == A5 AU S 20184 (A) | 2017 (B) Z(A-B)
2. EH o] LY 3,060 3,060 0
7}, S o] A B A B 210-09 200,0009x129= 2,400
BN YDA R-N] 210-01 |30,0009 x 28] = 60
th o] A A IFA ] A 210-01 |50,00091 x129= 600
3. 47 EHFEHTY 5,500 13,000 A7,500
7}. AFE 430-01 |1,100,0009 x5t = 5,500
4. AR GA 2 6,000 6,000 0
7F ML AFE A B 210-09 |250,0009%x12¢¥= 3,000
wh AR ] A B 210-09 |250,0009 x 129 = 3,000
5. ARAI A ALY 5,680 5,680 0
7F AARA A7 E) 210-01 [30,0009 X 10% x 128 = 3,600
U AFHuSA9H) 210-01 [30,0009 xX3%x123]= 1,080
o}, JFE 8 AT E 9 o] 210-01 |100,0009 x 10%= 1,000
HAA U ZE DT 21,666 21,090 576
ISP A 7 ZE T 21,666 21,090 576
1. BELSTAAR LI 1,653 1,275 378
7} dgolxe) 110-03 66,6309 x 114 x 20 = 1,333
U, Eu)aln] 210-05 [8,0009 % 2% x 209 = 320
2. 715829 14,795 14,661 134
7h 7153 R A 5,143
1) B 110-03 66,6309 x 21 x35% = 4,665
2) AT Ee 320-05 |4,665,0009 x 4.5%= 210
3) ARG 320-05 4,665,0009 x3.12%= 146
4) A AR E 320-05 |4,665,0009 X0.9%= 42
5 1EHIFFIT 320-05 |4,665,0009 X 1.5%= 70
6) wolA7| ok A 320-05 |4,665,0009%3.12% % 6.55%= 10
U, E Al 210-05 |8,000¢ % 3% x 7%= 168
o ERAE 210-01 |1,600,000¢ x 13]= 1,600
g}, AFE-4-3E ) 210-01 |50,0009 x 4% x 43| = 800
o}, SAFE-EZ 1) 210-01 |200,0009 x 7%= 1,400
uh, 7| S5 Y A A 200
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=S 9 ERREKO))
A RENE A= Ao 2018 (A) | 20179(®B) | F7(A-B)
/K]—C‘j A]’Ot] =1 = = =M gui pui [SR=!
1) 7] & 210—06 70,0009 x 2W = 140
2) =3 210-06 [30,0009 x 2% = 60
A} 23] 230-02 |30,0009 X107 = 300
of. 715 ¥ 7 205 Led
1) Zk2H] 210-04 |2,00091 X 46 x 28] = 184
2 71E A R 210—09 |1,000,000¢ x53]= 5,000
3. RT3 210 210 0
VAR XS Ea=1 210-06 | 70,0009 x 34 = 210
4, AR RIANAEY 5,008 4,944 64
7¢. ZEALE e (GRS 240
1) 7]%= 210-06 (80,0009 x 19 x 23] = 160
2) &3 210-06 40,0009 x 1% x 23] = 80
U AL B gAY E-Q1 7] 4,408
1) B4 110-03 |66,6309 x 1% x 60 = 3,998
9) =uloLrvlr 320-05 |3,998,0009 X 1% X 4.5%= 180
3) ARG 320-05 |3,998,0009 x 1% x3.12%= 125
4) A AR = 320—05 3,998,0009 x 1% X0.9%= 36
5 1ERIFIGF 320—05 3,998,0009 x 1% X 1.5%= 60
6) =AA7| QAR I 320—05 [3,998,0009 X178 x3.12% X 6.55%= 9
o}, 7HA1 ] 210-04 |2,0009 x90% x 23] = 360
" Q3 A A H] AH 3,166 3,666 A500
PR RS Rl Eatua-) 3,166 3,666 A500
1. A H AP0 3,166 3,666 A500
7t AR A B A A A2 3,166
1) Qlzn] 210—01 10,0009 X 70%= 700
2) BExpAn| 2ol g7 210-02 70,0009 x12¥= 840
3) 713 230-02 30,0009 X7 x 23] = 420
4) APE-8-3En) 210-01 |200,0009 x3%= 600
5) A [ R 210-06 |160,0009 % 19 x 33]= 480
6) 9= 210-01 14,0009 x 9ull= 126
H] o] Al & L B ek 3,088 3,047 41
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7187 AR =R SA LA (The] : 29
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
B4 A g L B kg 3,088 3,047 41
1. Wk u| A H) A 8 128 112 16
7. S m A ] 210-05 |8,000€1 %16 = 128
2. Add-SdARFEA 700 575 125
75 EZu A 210-05 |8,0009 x 259 = 200
U TR EA 2 210-01 |50,0009 X 107 = 500
3. EAAEFTY 2,260 2,360 A100
7}, EZuj Al 210-05 18,0009 x 227 x 102 = 1,760
U, TR EAZ 210-01 |50,0009 x107= 500
Atz 6,106 5,925 181
o Ar#E 2,720 2,800 280
1. dArAg &= 2,720 2,800 A80
7} EZuj Ay 210—05 (8,000 x4 x50 = 1,600
i}, o] 220-01 (20,0009 x4 x 149 = 1,120
A3 3,386 3,125 261
1. 24r#% 960 840 120
7} EZuj 2l 1) 210-05 |8,000€ x6™ x20d= 960
2. 4234t 2,426 2,285 141
7} dgolxe) 110-03 |66,6309x2W x11%= 1,466
U, EZualn) 210-05 |8,0009 6™ x20Y= 960
A5 #e 80,123 69,895 10,228
A 53] Al 2 2 1,080 1,080 0
1. JAFAFTFAANZ1F 7] 1,080 1,080 0
7F AP RSEAE 210-02 [40,0009 X274 = 1,080
ZT4ANLEZ g 79,043 68,815 10,228
1. THAE AT EA 3] 7Y 43,500 43,500 0
7} AtE A 3] H] 43,500
D AE 210-02 1139 x270,000m'= 30,510
2) A1 A f-TE] A AR ol 210—02 |7€9x270,000m'= 1,890
3) YHEAA 210—02 [30,000,000,000€ X0.027%= 8,100
4) A=) F&EE 210-02 |20,000,000,000¢ X 0.015%= 3,000
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HEAA S % o))
o )=
o | A A %A% eSS 20184W(A) | 20179(®) | S2(A-B)

2. 3FAEAFLEH LY 330 660 A330

7F L3RG 210-06 |70,0009 x 3= 210

. 7--3] 230-02 |15,0009 x 8% = 120
3. FEAAALEE 35,213 24,655 10,558

7F. A A A 9,515

1) ARG 210-01 |500,000¢ x 83]= 4,000

2) Z&iw 210-01 |500,000¢ x 83]= 4,000

3) 7+ 230-02 |25,0009 x99 x 33]= 675

4) FGAAA 0] 3] A Z=) 210-06 |70,000¢ x 47 x 33]= 840

v #H %] 8w e 21,978

1) H oA AEA HS 210-09 |1,500,000¢ x 3= 4,500

2) FALZAMAI B g AL DA TIH] | 210-09 22,0009 X 549m' = 12,078

3) =R A% g 210-01 |1,000,000¢ x 33]= 3,000

4) o] 220-01 |20,0009 x 2% X 60 = 2,400

o}, FAbE 3,000

1) AESA R 210-09 |600,000¢ x53]= 3,000

g}, A A =) 250-04 |60,0009 x 1% x 129 = 720
s A ul) %) A] ] 3,400 3,500 A100
AL X) A & T 3,400 3,500 2100
1. SR AR Y 3,400 3,500 2100

7}. odH] 220-01 [20,0009 x5 x23Y = 2,300

L}, 7hes 230-02 |20,0009 x 137 x 3%] = 780

o} E2u) Al 210-05 [8,0009 x4 x 102 = 320
AL 7| A =54 2,080 5,080 A3,000
Ayst7| &3 E 2,080 5,080 £3,000
1. AP BAA = 2,080 5,080 £3,000

7}, o3n] 220-01 |20,0009 x 27 X529 = 2,080
SR pmZ=n g8t g 18,334 13,775 4,559
SERpmZEn g8t g 18,334 13,775 4,559
1. 3Endas=xY 6,534 0 6,534

7t SR EAFE Y 6.534
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7187 AR =R SA LA (2] - ")
= [e) 1=}
Bopnm ;‘3}2“ ?};3 ﬂg NERE = = 20184 (A) | 20174 (®B) | Z7(A-B)
D) A [5E73AR2] 350
7p 7% 210-06 |200,0009 % 18 = 200
W) 23} 210-06 |150,000¢ x 1= 150
2) dag 210-01 |14,000¢ x 6v= 84
3) 7hets 230-02 |30,0009 X 10% = 300
4) AAE-En) 210-01 |10,00091 X 3007)= 3,000
5) 7hAu] 210-04 12,0009 x 300 = 600
6) &2=ut 210-01 |100,0009 % 17)= 100
7) Q124H] 210-01 |5,0004€l X 300%-= 1,500
8) Azt 210-07 |600,000€1 x 141= 600
2. 3R LT A I 11,800 13,775 A1,975
7b Stu g d B Ay 6,750
1) #l2=ur 210-01 |50,0009 x 27} = 100
2) SYAFL-FE ] 210-01 |100,000€ x 30%= 3,000
3) ZHAn) 310-01 12,0009 x500%= 1,000
4) FrAxw 210-07 600,000 x14= 600
5) ;A ) 210-01 13,0009 x500%= 1,500
6) AR [LRPEAH ] 340
7h 7= 310-01 [160,0009 x 1= 160
W) =3} 310-01 |90,00091 x 17 X 24| k= 180
7 daE 210-01 14,0009 % 15v)= 210
L St 9l g Aol v 220-01 |75,0009 x 17 x 6% = 450
= SRS b B B RS RSl e P 210-13 |3,600,000¢ x 18] = 3,600
2}, 7+t 3) 230-02 |20,0009 X 257 x 23] = 1,000
Al AN #2 75,960 75,880 80
Al 2A] #2 75,960 75,880 80
1. A -t v] 68,700 68,700 0
7} BARF = H] 220-01 |20,000€1 9% x 2409 = 43,200
U ZAME oI n] (#9)) 220—01 75,0009 x 39 x70Y = 15,750
U}, ZAF DAL S-Z ) 420-05 |100,00049 X 20% x 33]= 6,000
2}, 27 A Smodn) 420-05 |75,00091 x5% X 109 = 3,750
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(9] - )

ﬂ-;r Apeluj el B AbZ) o] 2018 (A) | 20179 (B) ZHA-B)

2. AE2A D 7,260 7,180 80

7}, B A 210-05 |8,0009 X 97 x 40 = 2,880

L A A A9 3] 1,050

1) A=} 210-06 |70,0009 X 5% x 38] = 1,050

U WRb o e ek 3,120

1) 723 230-02 20,0009 x 137 x 128] = 3,120

g}, AFEL3En) 210-01 [15,0009 X 14%= 210
799 g 616,302 835,711 £219,409
71 E£9) 432,672 443,429 210,757
A PR R Rl 432,672 443,429 210,757
1. 712G T EAN 212,962 242,959 229,997

7h A w5 A A 212,962

1) T3 = AA 103,711

7H $HeH 210-02 |600,0009 x 129 = 7,200

W) A3zt 210-02 |1,500,00091 x12¥= 18,000

th HA7QF 210-02 |6,000,0009 x 129 = 72,000

gp) WAl g 210-02 (50,0009 x12€= 600

o} AR R 210-02 |400,0009 x 129 = 4,800

) 2urebA e & 8 ) 210-02 |100,0009 X 13]= 100

AP WL EAFEEYEA QT | 210-02 30,0009 %128 = 360

op) WEGUR T 210-02 |651,00091x 13]= 651

2) Y EFET 210-01 |10,0009 X 25% X 3% x 129 = 9,000

3) wSHA 210-01 |100,0009 % 1091= 1,000

4) B+ 24,150

71 %37 210-06 |50,0009 x 17 x 365 = 18,250

) oz 210-06 50,0009 x 1 x 1189 = 5,900

5) FAdde 1,400

7hH AT 210-03 50,0009 x 4= 200

) A 210-03 10,0009 x 105 % 128] = 1,200

6) 25894 37,963

7h 284 210-13 |200,0009x 129 = 2,400
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(9] - )

A S == A5 AU S 2018 (A) | 20179 (B) | 4 (A-B)
1} F-217AH] 210-13 150,0009 x12¥= 1,800
o 48 210-13 |1,674,4109x129= 20,093
h A7)k A AL 210-13 |330,0009 x129= 3,960
up) =77 A B 210-13 |190,0009 x129= 2,280
vh) A7)ekA T AAL 210-13 1,000,0009 x 13]= 1,000
AP 34 &) G-+ -2 210-09 225,0009 x103]= 2,250
o) Hbod A ul HEl 5 Ak 210-13 [260,0009¥ x53]= 1,300
Zh) A5 1] 210-07 ]20,000€¥x 120 x12€¥= 2,880
7) IARE Y] 12,300
7hH A EZ=An) 210-09 250,0009x12¢= 3,000
(BSREURCIRE) 210-02 1300,0008x12¢= 3,600
) EAZMAQ 210-02 |100,0009x 129 = 1,200
2} AAFH 5 430—01 [1,500,0009 X 3&= 4,500
8) B4A TN 6.300
7hH Ag(E5Y) 210-10 6,300,0009 x 1= 6,300
9) YHHg1] 17,138
7b 7)1 E5A 1) 210-09 |200,0009 x 43] = 800
) s A AN AR E 210-01 |830,3009¥%10%]= 8,303
o) 4713 H] 210-07 |48,800¢ x8rx12¥= 4,685
o) A A 8=+ 210-01 |10,0009 X55%F X 53] = 2,750
np) 9 Z2=A g A A 210-02 |600,0009 x 13]= 600
L EARF7 R 182,610 173,470 9,140
7t A &2} 107,580
1) 7] BEAPEREn) 210-01 |26,2509 %36 x 128 = 11,340
2) 7] EALREZFE R o 1] 220-01 |35,0009x36% x49 x12¥= 60,480
3) 71 -G A H-F20] 20,000
7hH weAE 230-01 |20,000,000¢ x 17 = 20,000
4) Zd7= 230-01 |40,0009 X704 = 2,800
5) Fa]$od QL= 7n] 230-01 380,0009x12¢= 4,560
6) A AF 3 n| 8,400
7h weA 250—02 400,0009 X1 x12¢= 4,800
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L R R R (9] - A Q)

o A=)
?};j ﬂg_g AU o S—A5 ArEue 20189 (A) | 2017d(®B) | SH(A-B)
) = 250—-02 |100,0009 %39 x129= 3,600
v, 7S X 50,085
1) 7] &A1) 210-01 |26,250¥x23¥ x12¢= 7,245
2) 7] BAFREZE=R 031 220-01 |35,0009 X239 x4 x129= 38,640
3) Fa]$-od Q= 7n] 230-01 |350,0009 x12¥= 4,200
o G WA 24,945
1) 7] EAME-8-3En) 210-01 |26,2509x11% x12¥= 3,465
2) Fa]$-od QL= 7n] 230-01 |250,0009x129= 3,000
3) 7] EAFESR o3 220-01 |35,0009 %114 x4 x12¥= 18,480
3. AR A A 37,100 27,000 10,100
7. A A3t 37,100
1) A En) 37,100
7H AHE-EH 7] 430-01 600,000 X 25%= 15,000
) Ex}7) 430-01 |3,600,000¢1 % 1th= 3,600
) A A7) 430-01 |500,0009 x 1tj= 500
2 1Ak 430-01 3,000,000 X 12]= 3,000
nh) Z2EZUFH 430-01 |6,000,000¢1 % 1th= 6,000
vl A3 aln)E 430—01 500,0009 x18%= 9,000
SRR BAAA 183,630 392,282 £A208,652
SR LAHAE B 183,630 392,282 £208,652
1. 71BAE 8- A # g 36,000 28,000 8,000
7F A B = n] 210-09 |3,600,0009 x10¥= 36,000
2. AAM A 147,630 353,600 A205,970
7F 2w A x| 420-03 |329,0009 x210m'= 69,090
U DAl % 420-03 |258,0009 X 180m= 46,440
o}, B2 A | 420-03 |30,0009 x1,070m'= 32,100
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